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TELEPHONY AND TELEGRAPHY A, 1976
Students were expected to answer any 6 questions

Q 1 (a) With the aid of simple sketches, explain how a telephone dial 
mechanism

(1 registers the dialled digit during the forward motion, and
(ii) transmits the registered digit during the return motion.
(b) Sketch simple circuits to show how the digits are sent to line from
(i) a telephone station, and
(ii) a Telex station.

A 1 (a) (i) The basic mechanism of a trigger dial in its norm! 
postion is shown in sketch (a). The pulsing contacts are closed; the 
off-normal contacts are open. When the dial is rotated off-normal, the 
movement of the off-normal cam allows the off-normal contacts to 
close, while the leading edge of the first tooth on the pulse wheel pulls 
the trigger clear of the pulse springs agaanst the tension of a restoring 
spring. This postion, when the dial has been rotated a short distance, 
is illustrated in sketch (b).

Further rotation of the dial in the direction shown in sketch (b) 
causes the dial to register the dialled digit by means of the number of 
pulse-wheel teeth which pass under the trigger in its fully extended 
portion. In the extended portion, the trigger does not make contact 
with the pulse springs, and no digits can be transmitted.

(ii) When the dial is released, it rotates in the opposite direction, as 
shown in sketch (c), under the influence of its restoring spring. During 
rotation in this direction, the leading face of the first pulse-wheel 

tooth (that is, the last tooth to have passed under the trigger) restores 
the trigger to its normal position under the pulse springs. The time 
taken for the trigger to restore ensures that the dial produces a mini­
mum inter-digital pause of 240 ms, and also ensures that, before 
pulsing commences, the dial has accelerated to its full governed speed.

When the trigger reaches its normal position, further rotation of the 
pulse wheel causes the trigger to ride over each of the teeth. Now, 
however, as the trigger rides over each tooth, it lifts the moving spring 
of the pulsing contacts and so sends a disconnexion to line. As the 
valley between each tooth passes under the trigger, the pulsing 
contacts remake to send a loop to line. The relative widths of teeth 
and valleys are such as to produce a make : break loop-disconnect: 
pulse ratio of 1 : 2.

(b) (i) and (ii) The esssntial pulsing elements of a telephone ccrcuit 
are shown in sketch (d); a simplified Telex pulsing circuit is shown In 
sketch (e).



TELEPHONY AND TELEGRAPHY A, 1976 (continued)

Q 2 (a) Draw circuitsfor transmission bridges of
(i) the capacitor type, and

(ii) the transformer type.

(b) Explain why each has a different effect on the speech frequencies 
transmitted across the transmission bridge.

(0) Which type of transmission bridge is normally used in 'a final 
celrctor, and what is its principaa function .

A 2 (a) (0 and (ii) Capacctor and transformer-type transmission 
bridges are shown in sketches (a) and (b) respectively,

(b) Sketches (c) and (:1) respectiveey show simplified equivalent 
circuits for the capacitor and transformer-type bridges at speech 
frequencies. It can be seen from sketch (c) that the only reactive 
component in the former is capacitance. The impedance of a capacctor 
is inversdy proportional to the frequency, so that the impedance (and 
hence the loss) decreases as the frequency increases. A graph of the 
frequency charactnlstic is shown in sketch (e).

(0 a high speed of operation is ensured since there is a smaller 
inherent time lag than would be the case if the flux decayed to zero 
and built up in the opposite direction, and

(ii ) hysteresis losses, and hence eddy currents, are low; this permits 
the use of a light-weight armature, which minimizes inertia and thus 
permits high-speed operation. The senniti.vity is also improved since 
low hysteresis losses mean low power wastage, and the low armature 
inertia also aids the sennittvity.

Q 4 An AC signalling system for use on junctions between exchanges 
may be an in-band type or an out-of-bana type.

(a) With the aid of a block diagram, give an outline description of the 
operation of one of the systems.

(b) State one advantage and one disadvantage of the out-of-band 
cSgnaOlmg system.

For the transformer bridge, the simplified equivalent circuit of 
sketch (d) shows that the reactive component is inductance. For an 
inductor, the impedance (and hence the loss) is directly proportional 
to frequency. The frequency characteristic is shown in sketch (f), and 
can be seen to give an effect on the speech frequencies opposite to that 
of the capacctor bridge.

In practice, the effects of shunting relays, line constants and, in the 
transformer-bridge case, DC-blocking copocttors, have also to be 
taken into account.

(c) A copocttor-iype transmission bridge is normally provided in a 
final sellecor. The principal function of a transmission bridge is to 
provide separate feeds of DC transmitter-polarizing current to each 
side of the bridge, while allowing AC speech eurrents to pass across 
the bridge.

Q 3 (a) With the aid of a sketch, explain the action of the magnetic 
circuit of a telegraph-type polarized relay.

(b) State and exp/ain the reasons for 2 advantages that are gained by 
arranging the magnetic circuit so that the direction of magnetic flux in 
the armature does not change.

A 3 (a) The magnetic circuit of a telegraph-type polarized relay is 
shown in the sketch. It consists of a coil, a soft-iron core-and-yoke 
assembly, an armature and 2 permanent magnets. The permanent 
magnets produce fluxes as shown, and these are sufficient to hold the 
armature on either of the 2 contacts. The cool flux is arranged to asssst 
one permanent-magnet flux while opposing, and thus weakening, the 
other. Thus, if the armature is resting on the mark contact, the applica­
tion of marking current to the coil has no effect other than to hold the 
armature more firmly in petition. The application of sparing current, 
however, reverses the cool flux and alters the balance of the 3 fluxes 
in the armature. The force holding the armature on the mark contact 
is reduced, the force of attraction to the space contact is increased, 
and the armature moves across to the space contact.

(b) The form of construction described provides a balanced move­
ment having equal operate times in each direction. Two advantages 
gained by having a unidirrctionol flux are that
50

A 4 (a) A block diagram of an in-band signalling system using a 
smgle signafiing frequency of 2280 Hz is shown in the sketch. In this 
4-wire system, tignafiing is carried out within the speech band; thus, 
tignailing is possible only prior to the completion of the subscribe--to- 
subscriber speech path, and during the clearing-down of the caU. The 
sequence of signalt shown in the table is transmitted.

Direction.
/----f Forward \
\ <---- Backward/

Signal Incidence

—>

<-----

Seizure
Dial pulses
Callrd-subscribrr answer

Before establishment of 
subscriber-to-subscriber 
speech path

<-----  
------> 
<-----

Called-subscriber clear 
Calling-subscriber clear 
Release-guard

During clear-down 
sequence

Alt signals are transmitted as different-length pulses of 2280 Hz. 
The signalling tone is injected into the 4-wire side of the terminating 
unit, and is detected by the receiver at the distant end. On detection of 
tignailing tone, the receiver biases the buffer amplifier to its cut-off 
point, thus preventing the signafiing tone reaching the 2-wire circuit. 
Recogmtion of the appropriate tone codes by the assoctatrd relay-set 
establishes the necessary DC circuit conditions on the 2-wire side of 
the terminating unit.

The receiver contains a number of safeguards against occtdenial 
operation by voice frequencies. The sketch includes a block diagramof 
the receiver. To operate the signal relay, tignafiing tone (aft 2280 Hz) 
must be present a some minimum level while, at the same time^all 
other frequencies must not exceed a maximum value. Thus, if a high 
level of 2280 Hz signal were present in some speech signals, the 
signol relay would not operate because the other frequencies present 
would inhibit its operation via the guard circuit and comparator.



TELEPHONY AND TELEGRAPHY A, 1976 (continued)

(b) One advantage gained by the use of an out-of-band system is 
that signalling is not confined to the setting-up and clearing-down 
periods of a call. Since the signatling frequency is outside the com­
mercial speech band, it can be separated from speech by filters, and 
signals can be passed while speech is in progress without either sub­
scriber being aware of them. This facility can be used for metfing-over- 
junction signals, for instance.

One disadvantage of an out-of-band system is that it increases the 
bandwidth required. Present frequency-division-multiplex systems 
commonly have a channel spacing of 4 kHz. Thus, a 0-9 kHz band 
is available in excess of the commercial speech band of 0-3-3-4 kHz. 
Out-of-band systems can exploit this gap betweenchannelsat littleextra 
cost, but the additional bandwidth required may weH be a dis­
advantage when considering, say, a new digital system for which 
channel bandwidths have yet to be fixed.

Q 5 (a) Drawa trunkingdiagramfor a4000-line non-di’ector Strowger 
exchange.

(b) For each selector involved in an awn-exchange call, briefly describe 
the part it plays in the process of selecting the required line.

(c) State 3 important functions performed by the final selector after 
it has stepped to the required line.

A 5 (a) See A8, Telephony and Telegraphy A, 197-4, and A4, Tele­
phony and Telegraphy A, 1975, Supplement, Vol. 68, p. 20, Apr. 1975, 
and Vol. 69, p. 34, July 1976.

(b) See A7, Telephony and Telegraphy A, 1973, Supple/menn, Vol. 67, 
p. 31, July 1974.

(c) After stepping to the required line, the final set<e<st^or
(0 tests the selected line,

(ii ) applies ringing current to the called line, if it is free,
(ii i) applies supervisory tones to the calling line,
(iv ) initiates the metering sequence when the called-subscriber 

answers, and
(v) provides transmission-bridge facilities.

Q 6 (¿1) With the aid of a sketch, describe the conssruction and 
adjustment of a wiper assembly for a 2-motion seeeetoo.

(b) Explain how the design of the wiper assists in maintaining a 
low-resistanee connexion with the bank contacts.

(c) For what reason is a lubricant applied to the seeclttr bank 
contacts, and what risks does this etHaH?

A 6 (a) The sketch shows, in simplified form, the construe cion of a 
pair of wipers. They consist essentially of a par of nickel-silver springs 
mounted on each side of an insulating sepaaaaor. The ends of the 
springs are formed into spoon-shaped contact tips, and an insulating 
fibre collar is fitted over the blades, engaging in small lugs on the 
bl ades.

Wiper blades are adjusted by meeting each blade outwards from the 
root before the collar is placed over them. When the collar is fitted, 
it holds the wipers together to form a tension-balanced pair, so that, 
for small deflexions, the gap between the contact tips is constant.

SIDE VIEW END VIEW

(b) The design features which asssst in maintaining a low-resistance 
contact with the bank are listed bellow.

(0 The blade material (nickel-sAver) maintains its tension for long 
periods.

(ii) The shape of the wiper tip gives a small contact area, and thus 
the contact pressure (force per unit area) is high.

(Hi) The tension-balanced-pair nature of the wipers ensures that the 
tips exert equal pressure even if there is an overall deflexion in one 
direction.

(iv) The damping efed of the collar reduces contact bounce.
(c) Lubricant is applied to selector bank contacts to reduce friction 

between the banks and the wiper tips. The risk which this entails is 
that dust particles become trapped in the oil, and this mixture of oil 
and dust forms an abrasive paste which can lead to very rapid wear of 
wipers and, more serioussy, banks.

Q 7 (a) With the aid of a sketch of the circuit elements concerned, 
describe the circuit operation of a lOO-outtee group snrcior during the 
action of hmitingfor and seizing afree outlet.

(b) Explain how meehantcaily-opnratnd spring sets stop the hunting 
action when all outlets are bus)’.

Q 8 With the aid ofsketches,
(a) describe the conssruction of a dry-reed insert,
(b) explain how groups of reed inserts are assembled to form a cross­

point relay for a switching matrix, and
(c) explain how a number of such relays can be arranged and wired 

to 'form a switching matrix.

A 8 (a) The consfirudton of a dry-reed insert is shown in sketch (a). 
The insert consists of 2 nickd-iron reeds sealed in a glass envelope 
containing an inert atmosphere of dry nitrogen. The contact areas of 
the reeds are coated with gold to reduce contact resistance.

5!



TELEPHONY AND TELEGRAPHY A, 1976 (continued)
_ (b) A coil-and-former assembly for a crosspoint reed relay is shown 
in sketch (b). It consists of a plastic former with a coil wound on it. 
Four reed inserts are placed through the centre of the former, and 
connexions to the reeds are brought out to tags on the former cheeks, 
as are those to the coil. In use, the entire assembly is mounted in 
a metal can which provides screening and mechanical protection.

INLETS

OUTLETS

(e

, (c) A typical matrix arrangement for reed-relay switching is shown 
in sketch (c). An inlet is connected to an outlet by operating the 
appropriate reed. (In practice, several wires are asssocated with each 
inlet and outlet, so that one reed must be operated for each wire.) To 
facilitate construction of the matrix, the tags to which the reeds are 
connected are arranged to be in directions perpendicular to each other 
at opposite ends of the relay (sketch (b)). Thus, a matrix of reed relays 
can conveniently be wired by connecting horizontal commons (inlets) 
to one end of the reeds, and vertical commons (outlets) to the other.

Q 9 (0) Sketch graphs to show typical variations in the originated 
telephone traffic at a lo^al exchange

(1) during a period of 24 h, and
(rf) within the busy hour.
Indicate the reasonsfor the variations, and mark onyour graph the 

traffic that is last.
(b) A group of N circuits is offered 5 erlangs of traffic and gives a 

grade of service of 0 01. If the average duration of a call is 3 mbi,
(1) how much traffic is carried during the busy hotur and 

(if) how many calls are loss during the busy hoar?
(0) Briefly explain why N muss be significantly greater than 5.

A 9 (a) (i) A graph showing typical traffic variations over 3 24h 
period is given in sketch (<1). Reasons for the variations are marked 
on the graph.

TIME

■ a)

(ii) Sketch (b) shows a graph of typical traffic variations over the 
busy hour. The variations are due not, as in sketch (a), to speccific 
events, but merely to the random nature of traffic. It should be noted 
that not only does the busy-hour traffic randomly fluctuate in the 
manner shown; each hour of sketch (a), if plotted to the same scale 
as sketch (b), would show a similar effect, although the average levef 
about which the random variations occut- would vary with the time 
of day. ’
52
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(b) (i) The traffic lost during the busy hour
= traffic offered x busy-hour grade of service, 
= 5 X 0-01 =0-05 erlang.

The traffic carried
= traffic offered — traffic lost, 
= 5 — 0-05 = 4-95 erlangs.

(ii) The number of calls

_ traffic (in erlangs)
average duration of a caH (in hours)

Therefore, the number of calls lost during the busy hour

0-05 ><6 ,

(c) A traffic level of 5 erlangs is equivalent to 5 circuits continuously 
engaged for 1h. Thus, at first sight, it would appear that only 5 
circuits are necessaay. This would be true if perfectly smooth traffic 
were offered (and setting-up and clearing-down times were neglected) 
but, in practice, traffic is offered either completely at random or, at 
besL only partially smoothed. Thus, there is a random ffuctuation 
above and beeow the average level of 5 simultaneous calls. With 
random (pure-chance) traffic, it can be shown statistically that the 
probabilities of 0, l, 2, 3, 4, 5, 6,7, 8, 9, 10etc. calls occurring at any 
instant follows a Poisson distribution; from this mathematical function, 
the number of circuits needed to give a tpecified grade of service can 
be estimated. It is found that, espedally for small volumes of traffic 
where the random peaks are high compared with the average level, 
the number of circuits required is considerably greater than the traffic 
offered in erlangs.

Q 10 (a) What characteristics of lead-add cells make them 
particularly suitablefor use in telephone-exchange power plant.

(b) For which types of power plant are 2 storage batteries used, and 
why 7

fc) Explain why a hydrometer is normally used to indicate the state 
of charge of a lead-add battery.

A 10 (a) The 2 principal characteristics of lead-accd cells which 
make them particularly suitable for telephone-exchange power plants 
are their

(1) steady voltage/time characteristic during discharge, and
(ii) low internal resistance.
The voltage/time characteristic is shown in sketch (a). When a fully- 

charged lead-add cell starts to discharge through a constant load, the 

VOLTAGE SPECCFIC
GRAVITY

TIME

(b)



TELEPHONY AND TELEGRAPHY A, 1976 (continued)
voltage initially falls rapidly, until it stabilizes at approximately 2 V. 
It remains at this level during most of the discharge, and then falls 
away rapidly again as the cell approaches exhaustion.

The internal resistance of a lead-acid cell is very low, thus allowing 
heavy currents to be supplied without undue power loss in internal 
heating. The low resistance also minimizes crosssalk: via the common 
battery.

(b) Charge-discharge systems consist of 2 batteries. At any time, 
one battery is discharging via the exchange load, and the other is being 
recharged while isolated from the load. At intervals, the batteries’ 
roles are reversed. Two batteries are esseetial in such a system.

Float systems differ from charge-discharge systems in that the 
exchange load is supplied directly from a mains rectifier; the battery or 
batteries are connected in parallel with the rectifier. In the parallel­
battery-float system, 2 such batteries are used, both in parallel with the 
rectifier. This permits one battery to be isolated for maintenance 

work, such as the periodic refresher charges which are normaHy given 
to floated batteries to mantain them in the fully-charged state.

(c) A hydrometer measures spedAc gravity, and it is the spedfic 
gravity of the arid in a cell which is usually used to indicate the state 
of charge of the cell. This is because there is a linear relationship 
between the epecif¡c gravity and the state of charge. The reason that 
the somewhat cumbersome mecthrntcaí measurement of spedfic 
gravity is used for this purpose, rather than an electrical method, is 
related to the voltage/time characteristic. If a cell supplies a constant 
current, its voltage/time characteristic is as shown in sketch (a). The 
charge remalntng a.t any instant is decreasmg at a constant rate. 
However between times It and fe, the voltage of the ceH remains 
constant. The current is defined as cone-ant, and thus there is no 
simple electric! method of measuring the state of charge at any point. 
Sketch (b) shows, for comparison, the spedfic gravity over the same 
range of time, illustrating its linearly decreasing nature.

TELECOMMUNICATION PRINCIPLES C, 1976 
Students were expected to answer- any 6 quessions

Q 1 (a) Explain, with the aid of a phasor diagram, the significance of 
the loss angle of a copocttor, andgive a typical value for this angle.

(b) At 500 kHz, the equivalent circuit of a capachor is 800 pF in series 
with 0-2 O. Calculate

(i) the reactance,
(it) the loss angle,

(Hi) the Q-faccor,
(iv) the equivalent parallel resistance, and
(v) thepower dissipated when the capacHor is connutaito a4 Vsource.

A 1 (a) Sketch (a) shows the equivalent circuit of a capaccior, 
C farads, in which the losses are represented by a parallel ressstance, 
R ohms. The phasor diagram is shown in sketch (b), in which 6 is the 
loss angle.

In general, the loss angle of a capadtor is very small.

. a ~ IRA v/R Xc ..... 6~ I N/C' V/xc ’R r^ '

where Ir is the current in the parallel resistance, I is the supply current, 
Ic is the current in the capadtor, V is the supply voltage, and Xc is 
the reactance of the capachc!. (Also, for a low-loss capadior, 6 z 
cos 9S, where cos 4 is the power factor.)

A typical value for 6 is between 10-3 and 10-4 rad.

(b) (1) Now, Xc = x-i- ohms,
21TC

where/is the frequency (hertz).

Xc 2^550x100x800x10-12 ■397'9S0-

(ii) For a series equivalent resistance of r ohms,

6 = Errradians, Xc
= —29= 5.03 x 10-4rad.

(iii) The Q-factor is the ratio of the series reactance to the series 
resissance. Thus,

Q = v = 3 “ 5-03 xi0-4 = 988L
(iv) Since 6 = = &^d

then R = XT2 ohms,
r

397-92 __ 30^- Q ~ 792kQ.

(v) The power dieeipated, P watts, is given by
V 

P = T- watts, A

42 „
= 7924x-i03W = 202W.

Q 2 (a) Explain the meaning of the terms characteristic impedance, 
wavelength and velocity of transmission, as applied 1o a transmission line.

(b) A 2 km loss-free transmission line is terminated in its characteristic 
impedance of (120 + j'0) Q. A source of e.m.f. 3 Vand internal reedetance 
120 01, connected to the line input, produces a wavelength of 258 m on 
the line. Calculate

(i) the input voltage,
(ii) the input current,
(Hi) the output voltage, and
(iv) the phase change along the line.
(0) Draw a phasor diagram relating the voltages at the input, mid­

point and output of the line.

A 2 (a) Foroninfiniielransmi-stonline,thechorocterlsticimpedance 
is the input impedance. If a section is cut from the infinite line and 
terminated in the clloracterlstic impedance, the input impedance of the 
section is again the characteristic impedance.

The effect of the line reactances is to change the phase of the 
voltage (or current) along the tran-mi-Son line. A wavelength Is the 
distance between 2 adjacent points at which the voltages (or currents) 
are in phase.

The velocity of transmission, 0, is the speed at which energy is 
propagated along the line, and is given by v = fA, where f is the 
frequency and A the wavelength.

(b) The ironsmission-line arrangements are shown in sketch (a), 
where V is the source vohage,ZQisthe chorocteels-iicmpedance, and 
Rs is the source ressstance.

(i) Since the line is correctly terminated, the input impedance, 
Zin, is 120 Q, and the input voltage, Vin, is given by

y. H__ Zgn__ . x K _ 1 12 X X = _ 5 VV Rs+Zn* V 112 1+ '0fl
(ii) The input current

_ VS = 120A = 125 mA. 
2-in -----------

(Hi). Since the line is loss free and correctly terminated, the output 
voltage, Vom, is equal to the input voltage.

A rout = 15V.

(iv) The line is 2 X 103/258 = 7-752 wavelengths long. The total 
phase change is therefore 0-752 X 360° = 270-7°.

53



TELECOMMlUNCATION PRINCIPLES C, 1976 (continued)

-3V

zo = i2on

TERMINATING 
RESISTANCE

(b

(e) (i) In complex notation, the voltage across the inductor 
= 50 X 10-3 > (1-996 +j3-996)X 1O3V, 

= 99-8 + jI99-8V.

The magnitude of the voltage

= v'(99-82 + 199-82) = 223-3 V.

(ii) Power is dissipated only in the resistance. The power dissipated 
= 50) X 10-6 x 1-996 x 103 = 4-99 W.

(e) A phasor diagram, relating the voltages at the input, mid-point 
and output, is shown in sketch (b). If the phase of the output voltage 
has made 7-75 revolutions with respect to the input voltage, that of 
the voltage at the mid-point, Vmid, has made 3-875 revolutions.Also, 
Vmid has the same magnitude as Vn.

Q 3 (a) Explain the factors that cause power loss in iron-cored 
inductors.

(b) An iron-cored inductor has negligible conductor resistance and 
may be represented at a frequency of 1-59 kHz as an inductance of 
500 mH, in paradee with a resistance of 10 kH9 represemting the iron loss. 
By using complex numbers, or otherwise, determine the rflry/iVr series 
resistance and series inductance of the induccor.

(c) If the inductor carries a current of 50 mA at a ftequeney of 
1-59 kHz, determine

(i) the potential difference across the inductor, and
(ii) the power dissipated in the inductor.

A 3 (a) Power loss in iron-cored inductors can be attributed to 
copper loss and iron loss.

Copper loss is the power dissipated by current flowing in the 
resistive winding of the inductor’s coil.

Iron loss is the power dissipated in the magnetic circuit, and can be 
attributed to eddy-emrent loss and hysteresis loss. Eddy-current loss 
is the power dissipated by currents induced in the magnetic material. 
Hysteresis loss is the power dissipated in magnetizing the magnetic 
circuit. The flux-drnsty/mognrtiy-firld-strength (B/H) curve for a 
magnetic material is as shown in sketch (a). The energy expended per 
magnetization cycle is proportional to the area of the B/H loop.

(b) Sketch (b) shows the parallel equivalent circuit of the inductor, 
where Lp is the equivalent parallel inductance (henrys), and Rf is 
the equivalent parallel resistance (ohms). The admittance of the 
circuit, Y, represented in complex form, is given by

. l 1 .Y = 1-2 +.,_ Siemens,
lip j2n/Lp

wherefis the frequency (hertz).

... Y* +________1________S10X0P j2tt x 1-59 X 103 x 500 x 10-3 ’

= 10-4 —22-002 ><0-4S.

The impedance of the circuit, Z, is given by

Z= 1 - . 104 oZ ?_ 1—jOO2 9,
_ (1 + )2-002) x 104 _ (10 + 220-02) x K0>Q

P + 2-0022 5-01

= 1-996 + 33-996 kQ.

Thus, the rffrctive series resistance is 1-996 kQ, and the effective 
series inductance is 3-996 x 103/(21 x 1-59 X 103 H = 400 mH.

Q 4 (a) With the aid of sketches, explain the principles of
(i) frequrucy-division multiplexing, and
(ii) time-division multiplexing.
(b) A time-division-multiplex system transmits telephone channels, 

each of which must be sampled 8000 times per second. If the minimum 
sample duration is 400 ns and the minimmn switching time between one 
sample and the nex is 100 us, what is the maximum number of chonnels 
that c on be ’•ansmite-d?

(c) The signaa on one channel in the system described in part (b) is 
sinusoidal, and has a peak value of 750 mV and a frequency of 1 kHz. 
If one sample on this channel occurs at the beginning of the sine wave, 
calculate the voltage of the next sample of the same signal.

A 4 (o) (r) Sketch (a) shows the frequency speccrum of a 4-rhannrl 
frequency-division-multiplex system. Each channel has the same 
bandwidth, B, but channel I extends from frequency f to frequency 
f1 + B, channrl 2 extends from frequency/) to frequency fz + B, and 
so on. Multiplexing is achieved by allocating o different carrier 
frequency to each channel.

(ii ) Sketch (b) illustrates a time-division-multiplex system in which 
the transmission time available is divided among 4 identical channels. 
Each channel is alloted a time dot, of duration T, during which a 
sample of the signal on that channel is transmitted. For channel 1 
the sample begins at time t1 and ends at time t1 + T. Transmission of 
samples from all channels constitutes a frame and, at the end of one 
frame, the channels are again alloted successive time slots to form the 
next frame.

TIME

(b) The time between consecutive time slots for o particular channel 
is the reciprocal ofthe sampling rote, and is therefore 1/8000 s = 125 ps 
(that is, the duration of o frame is 125 ,tS.

The total time for one time slot and the guarding period between it 
and the next time slot is 400 + 100 = 500 ns.

Thus, the maximum number of channels

_1)5 x 10-6 = 250
500 x 10-9 250.

(e) The signal can be expressed in the form

e = 750sin(27r x 103 X t) millivolts,
where e is the instantaneous omplitude of the signal (volts), and t is 
the instantaneous time (seconds). lf the first sample occurs ot 
t = 0 s, the second occurs at t = 125 ps. Hence,

e = 750 sin (21 X 103 x 125 x 10-6 mV,

= 750 sin 7/4 = 530 mV,

Q 5 (a) A 25 k9 reslssoo, a 20 pH coli having o Q-factor of 150 ot 
3MHz, ond a capacitor ore yonnrctrd in poroH to form a circuit 
resonant at 3 MHz. Determine

(i) the capacitance required,
(ii) the impedance of the circuit ot 3 MHz, ond

(Hi) the Q-factor of the circuit.
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(b) The parallel circuit is connected to a 3 MHz source having an 
e.m.f. of 20 V and an internal resistance of 70 k9. Calculate

(1) the total current taken,
(a) the current in the capacitor, and
(Hi) the current in the 25 k9 resistor.

A 5 (a) (i) The circuit arrangement is shown in sketch (a). To a 
reasonable degree of accuracy, the resonant frequency occurs when 
the reactances of the inductor and capacitor are the same magnitude. 
Thus, 2-rfL = )/2)rfC, wheref is the frequency (hertz), L is the induc­
tance (henrys), and C is the capacitance (farads).

“ c 4n-2 X 32 X 1_12 X 20 X 10-6 F iïLIpF.

(ii) The impedance, Zt, of the circuit at 3 MHz is given by resistor 
14 in parallel with the dynamic impedance, Zp, of the resonant circuit. 
N ow,

Z9 = L axL ,
cTwc/ms'

where r is the resistance of the inductor (ohms), and w = 277/ _ 

Zd = 7% X -1-6 = 5%ohms, since Q = wLlr.
r a>C wC

• - 2D - 2m m 106 x W7 W-Q- 56‘56 kg

z 25 x 56-56 
2T 25 + 56 5: = 17-34k42

(Hi) The value of 2/ obtained can be regarded as the dynamic 
impedance of the complete circuit. Thus, for the complete circuit,

Q = wCZt’
= 2!» x 3 x 705 x ”40-7 X 11-72 x 77-34 X 113 N 46.

(b) (i) The circuit arrangement is shown in sketch (b), in which 
resistor Rs represents the internal resistance of the source, I is the 
total current, Ir is the current in resistor R, and Ic is the current in the 
capacctor. The total current is given by

, EI = m—amampel•et, Rs + zt

where E is the e.m.f. of the source (volts).

.I 11 >113+07-34 x!03 A 7----- .

(ii) Ic= Qi = 46 x 732 X 10-6— = ''--mA.

(mi) [R = r ZD_ x I amperes,
Jx + Zp

56-56 x 703 x 732 x11-6 .
— rar----PTi—, c ------rai- — = 508 FA•25 X 113 + 56-56 X 703 .-----L,

Q 6 (a) A 2-porr (4-terminal) amplifier, havinganopen-ciicuit voltage 
gain of400, is shown in Fig. 7. A 500 0 load ressssor is connected to the 
output port, and a 2 mPsignaf is applied to the input. Calculate

(i) the input current,
(ii) the output current,
(iii) the current gain, and
(iv) the output voltage.
(b) Negative feedback is applied to the loaded amplifier described in 

part (a), such that 7% of the output voltage is fed back in series with 
the input. Determine the input current and output voltage for the same 
input voltage.

(a) (i) The input current, 7;n, is the ratio of the input voltage.A 6
Vin, to the input resistance, R;n.

. 7.Vm — 2x^A _i„A• ■ m Re-i 2x113 A IAL

(ii) The output circuit for the amplifier is shown in sketch (a). The 
voltage generator generates an e.m.f., E, of 400 X 2 = 800 mV. The 
output current, 7out, is given by

. E ........lout - r-A + rl amperes,

where RA is the output resistance of the amplifier (ohms), and Rl is 
the load resistance (ohms).

. 800 x11-3
" /-o+-oo— = 800M.

(Hi) The current gain = Jomllin = 800.

(iv) The output voltage, Vo—, is given by

Vout = /—Rl = 800 x 11*6 X 500 A = 400 mV.

(b) The voltage gain without feedback, A, is given by Von/Vin = 
400/2 = 200. From feedback theory, the voltage gain with feedback, 
A’, is given by

' 4 AA 1 + flA ’
where [3 is the feedback fraction.

, _ 200 4^..,
■' A —l^-0-0ix 20 -6 7

The output voltage with feedback applied
= A'Vin = 66-7 X 2 = 133'4—V.

To determine the input current, it is necessary to find the modified 
input resistance, Rin'’ Now,

Rin = Rin(4 + 4/).
= 2 X 103 x (1 + 0 01 x 230) Q = 6 kQ.

Thus, the input current

= Vi _ ^X400-3 A = 333 nA.
Rin' 6 X ¡03 .---------

Q 7 (a) The current from a —odulator is given by
i = 5 5in(2)T X 114) + 7•5cos(2/)x 0-95 X 704), %

-15 cos (277 X 7-05 x 704t amperes.

Identify the type of —odulation, and determine
(i) the carrierfeequeiicy,
(ii) the signal frequency,
(Hi) the r.m.s. value of the carrier component, and
(iv) the r.m.s. value of the told current.
(b) If the modidator current is passed through a 200 Q rerisstio, 

determine
(i) the power due to the carrier componed,
(ii) the total power and
(iii) the peak instantaneouspower.

A 7 (a) The equation is an example of the general form for an 
ampiitude-modulated signal :

55



TELECOMMUNNCATION PRINCIPLES C, 1976 (continued)

i = [c sin wet + i% {cos (cuc — ws)t — cos (wc + w^)},

where Ic is the peak carrier current (equal to 5 A in the given equation), 
Wc = 27fct where fz is the carrier frequency, ws = 2173! where f is 
the frequency of the modulating signal, t is the instantaneous time, and 
k is the modulation factor. The amplitude-modulated carrier is 
illustrated in the sketch.

(1) Since wc = 21-fct = 277 X 104 radians/second,
fc = 10 kHz.

(ir) Sincef -fs = 0-95 x 10*Hz (orfc +f = 1-05 x 10<Hz), 

fs = 500 Hz.

(iii) The r.m.s. value of the carrier current

= 5v2= 3-54A.

(iv) The r.m.s. value of the total current

= + (212132 + (.^Ijl)^,

‘^(7^^^ =18i±.

(b) (i) The power due to the carrier current

= 3-542 X 200W = 2-5kW.

(ii) The total power = 3-842 x 200 W = 2-95 kW.

(iii) To calculate the peak instantaneous power-, it is necessary to 
find the peak instantaneous current. This occurs when the 3 current 
components are in phase, and thus has the value 5 + 1-5 + 1-5 = 8 A. 
Hence, the peak instantaneous power

= 8 X 200W=12-8kW.

Q 8 (a) Positivefeedback is appliedto anampiifier to causeosciilation. 
What is the condition for the maintenance of these oscHlations ?

(b) An osdilator is to consist of an amplifier having a phase shift of 
180° the output of which is connected to a tuned circuit. Shaw 2 methods 
by which the necessary feedback can be arranged.

(c) Sketch a full circuit diagram of an osdilator, and briefly describe 
its operation.

Q 9 (a) Sketch a set of typical collector characceristics for a power 
transistor. For a power-supply voltage, marked Vcc on the character­
istics. show ty/ww/ load lines for

(i) a load resistor, and
(ii) a transformer-coupled resistive load.
(1) A power transistor is supplied from a 15 V power supply, and 

feeds a 10(2 load resistance through a 2:1 step-down transformer. The 
collector current varies simisoidaHy between 650 mA and 50 mA. 
Determine

(i) the output power,
(ii) the power taken 'from the supply
(Hi) the efficiency, and
(iv) the collector dissipation.

A 9 (a) The sketch shows a set of typical collector characteristics, 
with load lines for a resistive load and a transformer-coupled load.

(b) (i) Since the transformer is a step-down transformer, the 
eoheetor load is 10 X 22 = 40 Q. The peatk-to-peak collector current 
is 600 mA. Thus, the output power

/300 X 10“3)2
k V2 J x 40 = 1-8W.

COLLECTOR 
CURRENT

COLLECTOR V..
VOLTAGE C

(ii) The average current taken from the power supply is (650 + 
50)/2 = 350 mA. Thus, the power taken from the supply

= 15 X 350 X 10-3 = 5.25 W.

(iii) The efficiency is the ratio of the output power to the power 
taken from the supply. Hence, the efficiency

I x
= 5-8 X 1)0% = 34,3%.

(iv The collector dissipation is the difference between the power 
supplied and the output power. Hence, the collector dissipation

= 5-25 - 1-8 = 3-45 W.

Q 10 (a) A variable resistor, R, is connected to a source. The potenntaa 
difference, Vr, across the resistor is measured for each resisor setting, 
and the results are given in the table.

R (il) 100 200 300 400 500 600

Kr(F) 2-7 4-4 5-5 6-4 7-1 7-6

Assuming the source to have a resistive internal impedance, determine 
the Thevenin equivalent circuit of the source.

(b) The above source is connected to terminals AB of the circuit 
shown in Fig. 2. Determine the turns ratio, N, of the transformer for 
maximum power in the 2 Q load and calculate that power.

A 10 (a) Sketch (a) shows the circuit arrangements, where resistor 
Rs represents the internal impedance of the source, and the source is 
assumed to generate E volts. Since resistors R5 and R form a potenti! 
divider,

v = ExRHes'
■ A = ^Rs.'JR. E'E

This equation is of the standard form for a straight line, y = mx + c, 
where y = R/VR, x = R, m = 1/E, and c = Rs/E. The table shows 
values of R/Vr for the given values of R.

R 100 200 300 400 500 600

R/Vr 37 45-5 54-6 62-5 70-4 79

Sketch (b) shows the graph of (R/VR) plotted against R. _ 
From the graph, 11E = (79 — 29)/600. Therefore, the Thevenm 

equivalent voltage geneeator (E) is 12 V.
Also, RssE 29, so that the Thevenin equivalent series resistance 

(Rs)is 348 Q.

5 6



TELECOMMUNICATION PRINCIPLES C, 1976 (continued)

(b)

(b) The effective primary resistance of the circuit when the source 
is connected is 348 + 4- = 390 Q. For maximum power in the load, 
the reflected load must equal the primary resistance. Hence,

= 14 : 1.

The load resistance reflected into the primary circuit is 390 Q, so 
that the primary circuit consists of a 12 V generauor feeding two 
390 Q resistors in series, one of which is the load. Hence, the power 
in the load

= ^-w = 92'3 mW.

CORRECTION
TELECOMMUNICATION PRINCIPLES C, 1975
(Supplement, Vol. 69, Oct. 1976)

A 10 The vertical scale of sketch (a) is misleadingly shown as a 
logarithmic scale. The scale should be lineair and calibrated in terms 
of the spectral density (watts/hertz). The upper point should have the 
value 10 W/Hz, and the lower, 0-1 W/Hz.

MATHEMATICS C, 1976
Students were expected to answer any 6 questions

Q 1 (a) The second term of a geometric progression is —48, anrf the 
fifth term is +20%. Find the first term of the series, the common ratio, 
and the sum to infinity of the progression.

(b) The r.m.s. voltage measured at the receiving endof a transmission 
line, 20 km long, is found to be 5X of the voltage at the sending end. If 
the voltage, V, at a distance xkilometres is given by V = Voe*kx, 
where k is a constant, calculate the value of k to 2 significant figures.

A 1 (a) If a denotes the first term of a geometric progression, and 
r is the common ratio, then

the second term = ar = —48, ......... (1)
and the fifth term = ar4 = +20L ........ (2)

Dividing equation (2) by equation (1) gives

,-3=_&=_.&___
48 12 64'

. ^-aZY^-E
'. . ( 64 J . _

Substituting for r in equation (1) gives

- 3a - h48.

■ 4 X 48 64

The sum to infinity

64
1 - (-%)

(b When
V = VoCkx = V060 = V0; 

hence, V is the r.m.s. voltage at the sending end. 
When x = 20 km,

^o = Voe ~-o_ 
100 r°e •

.‘. e-20k = 0-05.

.'. —20k = logeO-OS = -2-9957.

:. k = 0-15, to - significant figures.

Q 2 (a) Expand(1 + x) ~1/2 by the binomiaa series as far as the term 
m Jr“. State the term involving x", and the hmitaiioms to be paced on the 
value of x for the series to be valid.

(b) The chance of throwing 3 sixes when 5 dice are thrown at the same 
time is calculated by evaluating the term involving pty in the binomiaa 
series given by (p + q)5, where p = 5/6 andq = 1/6. Shaw that there 
is approximately a 1-in-30 chance of thisparticular event occurring.

A2 (a) (1 + x)-H2 = 1 + (-%)x + ^-1 * 2

. -%( - % - D( — % - 2)x3 
1x2x3

. -% - % - DC “% 2 2)( -% - 3)x4
+ 1 x 2 X 3 X 4 + ■ “’

- , x ()<%)x2 (%x%x%)x3 
2 1x2 1x2x3

. 4% x%x%x %)x4
1 1 X 2 X 3 X 4 ’ ’ ’

_ x 3x2 _ 5x3 35x4 =
1 2+8 16+128 ' ' “

The term involving x" can be written as
r 1W 1x3x5.. .x22r -l)xx' 

■ ( x 2rxr!

This series is true provided that the numerical value of xis less than 
unity.

(b) O+q)s=p5 + 5p4q++5-f-§-q
, (5 x 4 x 3)p2q3 , 
+ 1x2x3 +"--

When p = 5/6 and q = 1/6, the term involving p2q3 is

5)4x3 /5V Z1V10X25
1 x 2 x 3 X (6? X W 65 ’

- &o= _l
7776 311

so that the chance of throwing 3 sixes is l in 31-1, or approximately 
1 in 30.

Q 3 (a) Solve approximately the equation e* + e' x = 2-4, in which
x is positive. Use the expoi^emtal series to form a quadratic equation m
x2, and assume that x6 and higher powers of x can be neglected.

(b) Show that the exact solution of the original equation is
loge(1-2 + «'O-44).

Evaluate this, and show that the percentage error arising from the 
asssumption in part (a) is less than 1 %.
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A3 (a) e“1+x + S + 31+% + ••-
v2 JT3 y4 

and e = 1 ~x + % — âï + z!--'”
.•. e + e-* = 2 + +2 + +- + ....

Neglecting terms in x5 and higher powers, 

x42 + x2 + 2-4.
Let y = x2; then, 

v2 5’2 +y - 0-4 = o,

or j.2 + 12y - 4—8 = 0.

a, _ - 22±va44 + 19■:))’

Sincex = Vy, and x is positive, the negative solutions can be 
discarded,so that

x = +VO-39 = 0-6245.

(b) Let y = 6"; then,

y + y-24,
or y2 — 2-44» + 1=0.

2-4 ± i/(5-76 - 4).. y =---------- ^----------- 

.'. ex= 1-2 ± 1/0-44.
.'. x = loge(l-2 + V0-44). QED.

Nate: Since y0-44 = 066>33, the alternative value for e”, of 
1-2 -VO-44, is less than unity, giving a negative value of x.

The exact value of x

= loge(1-2 + 0-6633),
= logo 1-8633 = 0-6223.

The percentage error in the value of x obtained in part (a)

0-6245 - 0-6223
0-6223 X 100%,

~ ^22^ 
n 0- 627°’

which is approximately 0-3%, and hence is well tinder 1%.

Q 4 (a) Assuming the expansions for cos (A + B) and sin (A + B), 
(0 prove that cos 29 = 2 cas2 0 — 1, 

(ii) express cos 49 in powers of cos 0, and 
(Hi) express ran 20 in terms of tan 0.
(b) The current output of a modulator is i milliamperes, and isgiven by 

i = 10 cos(21t x 1033 sin(it X 105).
(0 Express this current as the sum or difference of 2 separate 

sinusoids.
(ii) Give the frequency, in hertz, of eac/i of these sinusoids.

A 4 (a) Now, cos (A + B) = cos A cos B — sin A sin B, 
........... (1)

and sn (A + B) = sin A cos B + cos A sin B.
........  . . . ......... (2)
(r) Now, cos 2 = cos (0 + 0).
If A = B = 0, then, using expansion (1),

cos 20 = cos2 0 — sin2 0.

But sin2 0 + cos2 0 = 1, or sin2 0=1 — cos2 0.
.'. cos 20 = cos2 9 — (1 — cos2 0),

= 2 cos2 0 - 1. QED.

cos 46 = cos (20 + 20),
C, 1976 (continued)

(ii) Now, 
which, from part (1),

= 2cos222 - 1,
= 2(2cosZG - l)2 - 1,
= 2(4cos<4- 4C03O+ 1 1
= 8 <os4 -8COS2 9+1.

(iii) Now, tan 20 _ sin 26 
cos20

If A = B = 0, then, from expansion (2),

sin 20 = sin 0 cos 0 + cos 0 sin 0, 
= 2 ssn 6 cos 0.

From expansson (1),
cos 20 = cos2 6 — sin2 9.

„„ 2 sin 0 cos 0.. tan 20 = —x-a-----:cos20 — sin2?
Dividing the numerator and denominator by cos2 0 gives

. A. 2 tan 0 tan 29 = l--- -—zo •
I — tan20

(b) (i) If B = —B, then expansiion (2) becomes
sin (A — B) = sin A cos (—B) + cos A sin (—B).

Since cos B = cos (—B), and ssn B = —sin (—B), then 
sin (A — B) = sinA cos B — cos A sin B.

.........  (3)
Adding expansions (2) and (3) gives 

sin(A + B) + sin(A — B) = ZsinA cosB.

,'. sinA cos B = flsin (A + B) + sin (A — 13).

Hence, if A = 1r x 105 and B = 2ttt x 103

i = 10 x §{sn 71(105 + 2 x 103) + sin 1/(105 - 2 x 103), 
= 5 sin (102?m X 103) + 5 sin 9981 x 1033.

(ii) For the first sinusoid, if f is the frequency, 
21ft = 102-m x 103. 
A /= 51 OOHz.

Similarly, for the second sinusoid, 2ift = 98177 X 103.
.’. /= 49 000 Hz.

Q 5 (a) Sketch the curvegiven by the polar equaaion 8/r = 2 + cos 0, 
ovee the range from 0 = 0 to 0 = 271 rad. Mark on the curve the points 
A, B, C and D where 0 = 0, 1r2, 2713 and tr rad respective^.

(b) Prove that the Cartesian equation of the same curve is
3x2 +< 4y2 +- 16x = 64,

referred to the pole as origin and the line 0 = 0as the positive x-axis.

A 5 See A6, Mathematics C, 1975, Supplement, Vol. 69, p. 62, Oct. 
1976.

Q 6 (a) Prove, from first principles, that djanO3 = sec2 0.

(b) The mass, m, of a particle increases with its vdodty, 0, such that
m0

' ya - vc|c2c’ 
where c is the vdodty of light.

(1. What does the constant, mo, represent ?
(ii) If the velocity varies with time, I, show that

, , - dm du(c2-v2-_dt=mvdf

a t . . „ sn9A 6 (a) Lit £t y tann— a-
COS0
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Let (increase by a small amount, 60, and let 1y be the corresponding 

change in y. Then,
, j sin (6 + 60) 

y+—' = co—0+50)-
Since y = sin 0/ cos 0,

6 _ sin (0 + 600 sin 0 
y cos (0 + 60) cos 0 ’

_sin (0 + 66) cos 0 — cos (0 + 60) sn 0
cos (0 + 60) cos 0 '

Now, sin (A — B) = sin A cos B — cos A sin B.

Hence, sin (0 + 66) cos 0 — cos (0 + 60) sin 0

= sin {(0 + 60) — 6} = sin 60.

• •• ■”

- -y =

sill 60 
cos (0+ 60)cos0'

sin 60
 44 '

‘ ' 60 cos (6 + 60) cos 0

.. sin <50 Now, limit —m— 
so->o <59

• _. s>n 0....................since ~s- always lies between 
unity and cos (^.

limit = —L- = sec2 0. QED.
S8—>0 00 00 cos2 0 ------- -

(b) (1 For m = mo,
VC - v2/c2) = 1.

.'. VCc2 — v/ = c.
._ CZ — ”2 = CZ.

.■. n = 0.

Thus, mo represents the mass of a particle having zero velocity.

(«) in = mi(( - vz/cz)~H2.

■ .•£--?(■-ST* (-7)-
= ».><!-W-iBxV - V/c/IXJ/

„, x __mi
C2(1 - vZ/cZ) C/-V/

dm dm dv
But< j? =t* X d'dr di> dr

. dm mv dv * ---- — _____  V _ ,
. dt C - 9 a

. , , ,, dm dv
((2-”2)m = mdf. QED.

Q 7 (a) Obtain dy/dx for the following functions, simplifying each 
resui:

(i) y = x3e-3* and
(if) y = (/x/ - 7)3/2.
(b) State and prove the rule for differmtiatting the quotient of / 

functions of x.
(0 Find the maximum and minimum values of

_(X + D/
/x — 5

and sketch thegraph of thisfiunction, displaying both positive and negative 
values of x.

A 7 (aJ d' 0_ = x3e ox X ( - 0) + e-ox x 3x2 = 0x2e”0*(1 - x).

(1'0 3 = § (2x2 - 7)”2 X 4x = 6x(2x2 - 7)1/2.

(b) For proof of the rule for differentiating a quotient, see A7, 
Mathemattic C, 1973, Supplement, Vol. 67, p. 61, Oct. 197^4.

C, 1076 (continued)
(c <x _ (2)-5)x2+ + 1 (- + +12X2
1 J dx (2x - 5)2 ’

_ 2(x + 11(2x - 5 - _ - 1) 
(2x - 5)2 ’

_ 2(x + 1)(x - 6)
Wx -52 ’

d2y_ (2x - 5)2 X 2(22 - 5) - 2(x2 - 5x - 6) x222x - 5) x 2
dx2 (2x - 5)4 ’

2 8(x2 — 5x - 6)
2x - 5 (2x - 5)3 *

For maximum and minimum values of y, dy/dx = 0.
. 2(x + l)(x - 6)
’ ’ (2x - 5)2 °.

.'. (x + l)(x — 6) = 0, whence x = —1 or 6.

, 02 2 8((-}-5-'6 2When x = -1, d-Z _--_.—/ = -7.

This is negative, and hence a maximum value occurs at x = —1. 
Substituting x = —1 into the expression for y gives the maximum 
value as jmax = 0.

z dz_ 2 8(6-30-6 2Whenx = -a1(z = 7--—70—>-r

This is positive, and hence a minimum value occurs at x = 6. 
Substitution gives the minimum value as ymin = 7.

The numerator of the funettoo ìs positive for all values of x, except 
for x = —1, when it is zero. When x = 2-5, the denominntoo r1 zero, 
and hence y = 00. The graap 1 shown in the sketch, conssructed from 
the following table of values.

X -4 —2 -1 0 2 2-5 4 6 8

(x + 12 9 1 0 I 9 12-25 25 49 81

2x- 5 -1 -9 -7 - 5 — I 0 n 7 11

y W -o-i 0 -0-2 —9 + 00 ii 7
-•.-M

The graph is asymptotic to the line x = 2-5 for both parts of the 
curve. For larger negative and positive values of x, the respective parts 
of the curve descend and ascend at an increasing rate.
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MATHEMATICS C, 1976 (continued)
r 1=3

Q 8 (a) By exact integration, evaluate J cos 2x dx.
o(b) Use Simpson s rule, with 7 ordinates, to evaluate approximately 

the integral in part (a). Determine the degree of accuracy of this approxi­
mate method in this instance.

A 8 (a)
F T, , Rm2xV/3| cos sx dx- S—2—J .

sin (2-iT/r)_i/3_ n
2 4

(b) The use of Simpson’s rule with 7 ordinates demands division of 
the range of values of x into 6 equal parts of g/1S rad (10°) each. The 
values of the ordinates are derived in the table, from which the curve 
of thfi function over the stated range may be drawn, as shown in the 
^keich.

x° 0 10 20 30 40 50 60

2x° 0 20 40 60 80 100 120

cos 2x 1 0-9397 0 766 0-5 01736 -0-1736 —0-5

B s. . i r113 _ .
By Simpson s rule, cos 2x dxo

= § (Width of strip) X (sum of first and last ordinates
+ twice the sum of remaining odd ordinates

+ 4 times the sum of the even ordinates),

= 33748“ ~0'5 + 2(o.7<6 + 0.1736)
+ 4(0′91397 + 0-5 - 0-1736))}

= 1(0-5 + 1-8792. + 5-0644),
54

= £ x 7 44136 = 0-4331.
54 ----------

To 3 s.gnificant figures, the answers agree exactty, so that the error 
is zero, within the limits imposed by the use of 4-figure tables.

since cos 200m =1 — 2 sin2 100m.

. , - 10M sin 200^/30-0025" (12)^,eln = E2"" [f----- 2O0^_|o

(b) The sketch shows the cone with its vertex at the origin, 0), of a 
set of Cartesian co-ordinates, and its axis set along the x-axis. Con­
sidering a thin slice, PQ, of the cone, if the ordinate, y, to point P is 
rotated about the x-axis, it generates a circle of area i/y2 If the 
thickness of the slice is 6x (a small part of the abscissa, x, through 
point P), the volume of the slice is approximately 7y2ny.

The total volume of the cone

x=h ph
= limit 2 -T’y'bx = 77'2 dx.

8x->0 x = 0 Jo

But y/x is the tangent of the semi-vertical angle of the cone, and is 
equal to a/h, so that y = ax/h. Thus, the volume of the cone

(■ /a2xZ , mJ rx3Ti 7a2h
7 J 0 W; d< = T ' ?0 3

Q 10 The impedance, Z, of a circuit is given by the expression

ï=lj^’
wheeeR = 40, L = 2 x 10-3 w = 104 and C = 4 x 10-6.

(a) Express g/2 in polar farm.
(b) Find the magnitude and phase angle of the impedance.

A 10 (a) _ = 1. + jwC = R + JwC.
( Z R+jwL - R2+-aRTi -

Q 9 (a) Calculate
(i) the mean value, and

(H) the r.m.s. value
of thefunction u = 5 sin DOttI, over the range t = 0tot = 2-5 X D~3.

(b) By regarding a soil'd cone as a volume of revolution (or otherwise), 
use integral calculus to obtain the volume of such a cone of height h and 
base radius a.

A 9 (a) (i) The mem value of v, 0-0025
5sin 100m dt _ ..n.nnisJ 0 _5»0r cos100ml° 0°25
2-5 x 10 3 2-5 [ 100,7 J0 ’

----------{cos (loom X 2-5 X 10~3) — cos 0), 7 { ( ’ "

-(!=- 11 = 1-865.1 \V2 / -------
(ii) The r.m.s. value of v is the square root of the mean value of 02. 

The mean value of v2pO-0025
25 sinn 100m dt
___________
2-5 x 10-3

’’ Cl .-as ,
104 -

J o
- COS 200m , 
--------X---------- * W,

Let ZRL2 represent the term R2 + a)2L2.

. I _ R - jwL + JOiCZri2 R + ja>(CZRL2 - L) 1_, =^_ ■^^^^^^^-^_^^^2^^^^—
'' Z Zrl2 Zrl2

The magnitude of 1/Zis given by

III RZ + w2(CCRL2 - L)2
|z| \ ZRL4

IR2 + w2L2 + wZCZZRL4 - 2w2LCZRL2
y Zrl4 ’

IZrl2(1 + wZCZZRLZ - 2w2LC)
V Zr l4 ’

/I + oTCAR2 4. a)2I2) — 2w2LC
_ V R + szz ’

11 - 2w2LC + w4L2C2 + w2C2R2
~y R + Wz.2 '

I(1 - w2LC)2 +w2C2R2
~y r + szz ■

The phase angle, 0, of 1/Z is g.ven by
6 0



MATHEMATICS C, 1976 (continued)

tan 9 = %(CZrl2 - L) = g (CR2 + w2CL2 - L), 
K i\

(b) Substituting the given values,

= $0122 ~ L(1 - sZc».
K

Hence, in polar form, l/Z

-J^C2^ /on-' w {CR2 - La - 0«».

I 1 I _ I(i -0-8). + 2-56 
\Z I V 1600 + 400 3-606 X 10-2’

and 0 = an-3 44{6-4 X 10-3 - 2x 10-3(1 - 08),

= tan“i(1-6 - 0-5 x 0-2) = tan-i 15 ° 56° 19'’

•'. Z - 0-03606/ 56° 17 - ^^V-5619

TELEPHONY C, 1976
Students were expected to answer any 6 questions

Q I (a) Draw a typical transistor bistable circuit element (toggle) 
and explain its operation.

(b) Wirt the aid of a block diagram, explain 1oov such elements can 
be used to form a digit store suitable for use in a register.

A 1 (a) Sketch (a) shows a typical transistor bistable circuit. Assum­
ing transistor TRI to be in its conducting state, then transistor TR2 
is non-conducting since the collector of transistor TRI, and hence the 
base of transistor TR2, is at earth potential. Therefore, as the collector 
of transistor TR2 is at the positive supply potential, + Vcc. transistor 
TRI is maintained in a stable conducting condition due to its basis­
emitter junction being forward-biased.

If a negative-going pulse of amplitude Vcc is applied to the set 
input, capadtor Cl transfers the pulse to the base of transistor TR], 
the potential of which falls from just above earth potential to approxi­
mately — Vcc before tiring exponential^ back to earth potential. 
Hence, transistor TRI turns oh” and, as its collector potential rises 
rapidly towards + VCC, the base-emitter junction of transistor TR2 
becomes forward-based, and transistor TR2 conducts. The collector 
potential of transistor TR2 falls from + Vcc to approximately earth 
potential, which then maintains transistor TRI in the non-conducting 
state. Also, the potential at output 1 rises from earth to + Vcc, while 
that at output 2 falls from + Vcc to earth.

To restore the toggle to its original state, it is necessary to apply a 
negative-going pulse of amplitude Vcc to the reset input. The circuit 
functions as described above, except that transistor TR2 is now 
turned off and, in turn, turns on transistor TRI. Thus, the potential 
at output 1 reverte from +Vcc to earth potential and the potential 
at output 2 reverts from earth to + Vcc.

Diedes Dl and D2 raise the base threshold voltages at which the 
tranststors turn on, thus rendering the circuit more immune to noise, 
and hence making it more stable.

(b) Sketch (b) shows 5 toggle -l-o-nts arranged for use as a digit 
store in a register. For simpHcity, only a single digit store is shown; 
thus, if it were necessary to store, say, 9 digits, the elements shown 
would need to be repeated 9 times.

To store a digit, a digit counter is needed to assess the value of the 
digit and then present this value in a 2-out-of-5 code as simultaneous 
signals on 2 of the leads A-E. To store the digit on toggles Bl-B5, a 
momentary store-first-digir signal (as illustrated in sketch (b)) opens 
the respective gates, and the 2 appropriate toggles are set by the out­
puts from! the gates. Typically, if the digit to be stored is 4, which is 
represented by signals on leads A and D, then when the store-first­
digit signal appears, gates 611 and G4 open and their outputs set 
toggles B1 and B4. The digit counter is then reset in readiness for 
counting the next digit, which is stored in a similar fashion on another 
set of 5 toggles under the control of a slor--s-cand-digit signal.

When it is required to examine the value of the digit stored (for 
example, for digit-sending purposes), a read-atd-first-digit signal opens 
gates G6 and G9. Hence, signals are passed over leads SA and SD 
(representing the value of the stored digit in a 2-out-of-5 code) to the 
sending -I-oent, which is then able to pulse out the digit. The second 
digit store is interrogated in a similar manner by a recid-out-second-digH 
signal.

When the information stored is no longer required, the reset signal 
is applied to reset to normal any toggles that have been see, so that the 
toggles are available for storing digits on another call.

Q 2 (a) With the oidofa trunkhig diagram, describe how rh-followilg 
classes of coH are set up in a 200-Iine rural automatic exchange (that Is, 
o unit automatic exchange (UAX)).'

(1) own-exchange colls,
(H) calls to a subsct'iber an a distant -xchong- (STD calls), and 
(Hi) calls incoming from an adjacent local exchange.
(b) Describe the metering arrang-m-nts for call types (i) and (ii).

A 2 (o) The sketch shows a typical trunking diagram for a 20_-Hne 
UAX, The numbering range shown is 200-399, and access to 2 adjacent 
local exchanges on levels 7 and 8 of the first selectors is illustrated.

(1) When the subssriber originates an own--xehong- cafi, a start 
signal is sent from the line circuit to the ollott-r, which ollottt-s a 
line finder and first seiecior for the call. The line finder finds the calling 
line and extends the calling subscriber’s loop to the first seletcor, which 
then returns dial tone. The first dialled digit steps the first s—ecior to 
level 2 or 3, as appropriate, and a final selector is seized Via a lotal- 
coII timer (LCT). The final selector is positioned by the second and 
third digits, and ringing tone is returned from it.

(H) The initial part of an STD coII is as described in part (i) above, 
except that the first dialled digit steps the first selector to level 0 to 
seize a levd-l-and-O relay-set. When this relay-set detects the first 
break pulse after the digit 0, the associated junction hunter hunts for a 
free junction to the group switching centre (GsC). A first selector at 
the GSC is seized, and the relay-set sends forward the digit 0 to step 
the GSC first selector and seize a register-access relay-set and 
controlling register. The level-l-and-O relay-set then forwards a tlacs-of- 
c-rvic- signal in the form of a digit in the range 1-6, to the 
register-access relay-set at the GSC, and this digit indicates the charg­
ing group in which the c!l originated and whether the call 1 from 
an ordinary or coin-collecting-box line. The level-l-and-O relay-set 
stores and repeats forward the rest of the dialled digits to enable the 
controlling register to set up the call through the network.

(iii) Incoming calls are set up exactiy as described in part (1) 
above, except that the start signal to the allotter is originated by the 
incoming r-loy-set, and the line finder finds and extends the calling 
junction to a first celeetor.
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TELEPHONY C, 1976 (continued)

GSC : AAoUPSWTCHING CENTRE 
[C : mCGMINA HELAY-SET 
1/0 :LEVEL-l-ANO-fl RELAY-SET 
9 : LEVEL-9 RELAY-SET

ADJACENT
EXCHA'.....

AA : AUTO-TO-AUTO RELAY-SET
LCT : LOCAL-CALL TIMER

Note: Coin-collecting-box lines routed via coin-and-fee-checking relay-sets

(b) When the called subscriber answers an own-exchange call, the 
final selector sends back an initial DC metering pulse to the calling 
subscriber's line circuit and meter via the LCT. When the LCT detects 
this initial metering pulse, it commences periodic metering by provid- 
ingfurther metering pulses (at the appropriate rate for the time of day) 
for the duration of the call. It should be noted that the LCT is in­
operative on incoming--unction and coin-collecting-box calls.

When the called subscriber answers an STD call, the register-access 
relay-set at the GSC sends back an initial metering-over-jtinccion signal 
to the level-l-and-O relay-set, which converts it into a metering pulse 
to operate the subscriber’s meter. Following this, the level-I-and-O 
relay-set. receives further periodic metering-over-junction signals from 
the GSC at the appropriate rate, and for the duration of the call; these 
are again converted into metering pulses to operate the subscriber's 
meiex.

Q 3 A traffic level of 1 erlang is offered to a full-availability group of 
5 switches. Assuming an Erlang distribution, calculate

(a) the grade of service given,
(b) the ;raf:,c last, an'
(c) the traffic carried by the second switch.

A. 3 
by

(a) For an Erlang distribution, the grade of service, B, is given

AN

B - N!______________
A2 A3 AN’
2! +3! + "’IV!

where A is the traffic offered (erlangs), and N is the number of circuits.

IL L_
____________120_____________@,

1+1 +1 + 1 + 1 + li. 26 ‘‘^'z^^'lio m
- 1

3 26 :!+‘

(b) The traffic lost = traffic offered X B,

= 1 X 0-003 = 0-003 erlang.

(c) The traffic passed on from the first switch

“AH-1)-»(rm)=0Serlang.

The traffic passed on from the second switch

= 0-2 erlang.

Thus, the traffic carried by the second switch

= 0-5 — 0’2 = 0-3 erlang.

Q 4 (o) With the aid of sketches of circuit elements, describe the 
principle of operation of a DC signalling system suitable for pulsing over 
long lines up to about 160 km (100 miles') in length.

(b) State with reasons the factors which limit the length of line over 
which pulses can be satisfactorily received.

A 4 (a) The sketch shows the signalling elements of a unidirectional 
DC signalling circuit using double-current working. Polarized relays 
D and A are of the Carpenter type and are side-stable; that is, they 
remain in the make (mK) or break (BK) position until current flows 
though the coils in such a direction as to change-over the contact. The 
windings of each relay are so connected that conventional current flow 
(earth to negative battery) in the direction of the arrow moves the 
contact to the MK petition. If conventional current flow is in the 
opposste direction, the contact moves to the BK petition.

With the circuit idle, current flow is from earth at the incoming relay- 
see, via contact GD, winding 2 of relay A, the potitive wire and 
winding 2 of relay D, to battery in the outgoing relay-set. Hence, 
contact A in the incoming relay-set remains at BK, and contact D 
remains at MK. (The current in winding 2 is sufficient to overcome 
the effect of the current in the bias winding, winding 3.)

When the outgoing relay-set is seized, relays A and AA operate, 
and contact AA changes the current flow from winding 2 to windings 
1 of relays D and A in the outgoing and incoming relay-sets respec­
tively. Contact D remains at MK, but contact A moves from bK to 
MK and operates relay AA in the incoming relay-set. In turn, contact 
AA extends a loop to seize the seteetol■, and relay GD operates to the 
earth returned on the P-wire. Contact GD removes the earth from 
relay A and current now flows round the loop via the negative and 
potitive wires and windings 1 and 2 of relays A and D. Contact A 
remains in the MK position, but contact D moves to the BK petition 
as relay D comes under control of bias winding 3, windings 1 and 2 
being in opposstion and efectiveey cancelling each other. Contact D 
operates relay DB.

When pulsing takes place, contact AA in the outgoing relay-set 
moves to its normal position during each break pulse, thus reverting 
the direction of current in the loop, and moving contact A in the 
incoming relay-set to the BK position to release relay AA during each 
break pulse. Contact AA in the incoming relay-set repeats the break 
pulses to the seiector.

When the called subscriber answers, relay DE operates in the 
incoming relay-set, and contact DE reconnects earth to windings 1 
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TELEPHONY C, 1976 (continued)
and 2 of relay A. Current then flows in the negative wire only, and 
contact A remains in the MK position, while contact Dmoves to the 
MK position. This operates relay DA, and contact DAI holds relay 
DB. Further contacts of relay DA repeat the appropriate backward 
supervisory sSgnals. ,

A backward-busy facility is provided since, if continuity of the line 
is broken while the circuit is idle, or relay GD operates to an earth 
on the P-wire, current in windings l and 2 of relay D either cease to 
flow or cancel each other, thus putting relay D under the influence of 
bias winding 3 so that contact D moves to the BK position. Relay 
DB operates, busying the circuit by putting an earth on the outgoing 
relay-set’s P-wire.

(b) The pulsing limits placed on the system depend upon both the 
resistance and capacitance of the line. If the line resistance is too high, 
the current through the Carpenter relay windings is insufficient 
to (1' ensure satisfactory operation, and (ii) overcome the effect of 
current in the bias winding. If the line capacitance is too high, the time 
taken to discharge the line and charge it in the opposite direction 
becomes excessive and introduces unacceptable dial-pulse distortion. 
The pulsing limit for 50 V exchanges is 76 000/<FQ, and the DC 
signalling limit is 8'2k9. The line insulation resistance should be 
greater than 0-1 MQ to ensure reliable working.

Q 5 (a) With the aid ofa block diagram of a voice-frequency signalling 
system, explain the function of the buffer ampllfier.

(b) Explain the principle employed to prevent misoperation of the 
receiver by far-end speech.

A 5 (a) Sketch (a) shows a block diagram of a typical singie-voice- 
frequency (1VF) signalling system. The signalling frequency, 2280 Hz, 
is used to transmit signalling information in both directions, and the 
1VF receivers convert this signalling information into DC signals to 
operate the exchange switching equipment as necessaay. Typically, 
10 pulses/s loop-disconnect signalling into the 2-wire side of the out - 
going relay-set is converted to ¡0 pulses/s bursts of 2280 Hz tone by 
relay TT. At the incoming relay-set, the 1VF receiver converts the 
bursts of 2280 Hz tone back into 10 pulses/s loop-disconnect signalling 
on the outgoing 2-wire side. Signals in the reverse direction are sent 
and received in a similar manner except that here the signals 
indicate, typically, called-subscriber-answer or other supervisory signals.

OUTGOING RELAY-SET INCOMING RELAY-SETlne

2280 H

buffe R
AMPLIFIER

BUFFER 
AMPLIFIER

2280 Hi
(a)

The buffer amplifiers are not required for amplification, but serve to 
prevent spill-over of 2280 Hz signalling tone into adjacent links via 
the normal 2-wire speech path; spill-over is prevented by spotting the 
line at the buffer amplifier. For instance, if the outgoing relay-set 
transmits 2280 Hz to the incoming relay-set, then the spHtting signa! 
from the 1VF receiver effectively cuts off the buffer amplifier. This 
prevents the tone going through the hybrid transformer and into, 
possibly, another similar signalling system in tandem, where the tone 
would be unwanted and may be recognized and give rise to false oper­
ation. The buffer amplifier also effectively isolates the assodated 
1VF receiver from the local 2-wire circuit, preventing false operation 
of the receiver by near-end interference, speech or noise.

Sketch (b) shows the basic principles of a buffer amplifier circuit. 
Resistors R1 and R2 form a potential divider such that, allowing for 
amplification through the tube,the overall gain from input to output 
is unity. Resistor R3 gives the normal automatic bias and negative 

feedback so that, typically, the grid bias is — 2 V with respect to the 
cathode. When a 228O Hz aignal is received, reby RS opiates and 
contact. RS efecfively increases the cathode potential from —48 V 
to, typical|y, ~30V by the potenfial-divtaer action of resistor R3 
and R4. Thus, the grid bias becomes -20 V with respect to the 
cathode, and the tube is cut off; that is, signals on the input cannot 
get through to the output.

(b) Sketch (c) shows a block diagram of a typical 1VF receiver. 
There are 2 distinct elements: a signal circuit and a guard circuit. For 
genuine 2280 Hz signals, the signal circuit, which contains a 2280 Hz 
band-pass filter, responds by giving a strong positive output to the 
adding circuit to operate the signal relay via an amplifier. The guard 
circuit responds weakly to 2280 Hz signal, and ks negative output to 
the adding circuít is ineffective. However, when speech appears on the 
mpta, the signal circuit responds weakly and its positive output is 
smafi; the guard circuit, however, responds more strongly to speech 
frequencies and gives a strong negative signa! to the adding circuit to 
mask any positive output from the sgnal circuit, and thus prevents 
the signal relay from operating to any 2280 Hz frequencies that may 
occur in the speech.

Q 6 An operator at an auto-manual centre is provided with a means of 
timing calls.

(a) For a typical timing device, describe, with the aid of sketches of 
circuit elements, how

(i) the caller is given an indication of the elapsed time, and
(ii) the elapsed time is indicated to the operator.
(b) State 2 of the other principaa facilities provided by the timing 

device, and outline how one of these facilities is provided.

A 6 (a) See A5, Telephony C, 1974, Suppiemed, Vol. 68, p. 65, 
Oct. 1975.

(b) Two other principal facilities provided by a chargeab!c--ime 
clock are

(i) an indication of the actual time for which a call was effective, 
given when the calling subscriber clears down, and

(ii) an indication to the operator that 9min (2 8min on coin­
collecting-box calls) have elapsed.

Descriptions of how each facility is provided are given in the above 
reference.

Q 7 (a) Draw a trunking diagramfor a TXEZ exchange, distinguishing 
clearly between speech and control paths.

(b) With the aid of sketches, explain the use of the B-switch setltctor in 
the system.

(c) Assuming the register has received all the required digits, describe 
the setting-up sequence to the called subscriber's line.

A 7 (a) See A6, Telephony C, 1974, Supplementi Voi. 68, p. 66, 
Oct. 1975.

(b) and (c) See A10, Telephony C, 1975, Supplementi Voi. 69, p. 75, 
Oct. 1976.
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TELEPHONY C, 1976 (continued)

Q 8 (a) Draw a trunking diagram to show the position of the control­
ling rdgister-tragsSatcr in an STD network.

(b) State the factors which influence the choice of the location.
(c) List the prigcipalfacilities of a controlling rdgistdr-trmsSattcr.
((1 ) Why is it usual to separate the register and translator functions?

A 8 (a) The sketch shows the position of the controlling register­
translator in a typical non-director-area system. Access to the register­
access relay-set and controlling register is gained from level 0 of the 
first selectors in the main exchange or, typically, from level 0 of the 
first selectors in a dependent local exchange via a level-O junction.

(b) Large amounts of STD equipment would be needed if such 
equipment were provided at each local exchange. It is more economic 
to provide the equipment at a centralized point. The group switching 
centre (GSC) is chosen because

(i) the exchange building has to be big enough to accommodate 
the STD equipment,

(H) the GSC is provided with access to other main-network switching 
centres,

(Hi) the GSC is near the centre of the charging group, so that 
.junction routes from the dependent exchanges are as short as possible,

(iv) the GSC has the largest number of subscribers within the 
charging group, so that the number of metering-oven-junction equip­
ments is kept to a minimum, and

(v) the GSC has the largest number of business subscribers, who 
generate considerable STD traffic.

(6) A non-director controlling register-translator has facilities for
(i) storing up to 9 digits,
(H) examining up to the first 5 digits for translation purposes,
(iii) sending a fee digit to the register-access relay-set to specify 

the charging rate for the call,
(iv) sending up to 6 translation digits, followed by the appropriate 

repeated digits,
(v) determining which of the stored digits should not be r-epeale<d
(v) changing the fee digit if necessary (and hence the charging 

rate for the call) on selected national-numbering-group codes should 
the call originate from a dependent charging group,

(ni) force-releasing the forward equipment and causing the return 
of number-unobtainable tone if a spare or barred code is received, or 
if there is excessive delay during the dialling of the first 7 digits,

TYPICAL LOCAL NON- 
OIRECTOH EXCHANGE

GROUP SWITCHING CENTRE
FROM MAIN-EXCHANGE SUBSCRIBERS |VVA LINE CIRCUITS)

l I \ t ’’"""'77 — FIRSTVx,^.,.// selector

! fl—------ x

THANSLATUR

TO JUNCTIUNS 
AND SECOND « 
SELECTORS

AA 
MOJ

SSMFZ 
SENDEH- 

RECEIVER

AA:
MOJ:

RA: 
s>mia:

COTGOING 
MAIN-NETWORK 

ROUTES

Auto-to-auto relay-set
Metering-over-junction facilities 
Register-aocess relay-set
Signalling System Multi-Frequency No. 2

CONTROLLING 
REGISTER

SECOND 
SELECTOR

(viH) applying a 4 s time-out period after the seventh (and eighth, if 
received) digit, such that, if no further digits are received in that time, 
diaUing is assumed to have finished,

(ix) dHaying the sending of the penultimate digit until the final digit 
has been stored,

(.v) associatigg a Signaling System Multi-Frequency No. 2 sender- 
rrcelveri ifsequired, and

(xi) setting-up the transmission path through the register-access 
relay-set and disconnecting itself from the call when sending is 
complete.

(d) Dosing the seeting-up of a call by a regisse!', the actual process of 
examining the initial digits dialled, and obtaining a translation for 
them, does not take more than about 0 5 5 Thus, if each register had 
its own integral translator, the translator portion would be used, 
typically, for only 2-5% of the time, 205 being the average controlling­
register holding time. As translators are expensive items of equipment, 
it is better to share them among a group of registers so that they are 
used more economicdly. This also means less manpowee is required 
when changing translation strappings. Typically, one translatcr may 
be shared by 20 or more registers, and deals with around 5 register 
demands per second. A translator may be assoccated with a register 
up to 3 times during the sseting-up of a call, as not all the translation, 
information can grcessariiy be given on the first, or even the second, 
demand. Each associaticg lasts for approximately 150 ms.

Q 9 (a) For what reason are trunk exchanges provided with access to 
a trunk transit network?

(b) Describe how a call is set up over the transit network.
(c) Approximately what proportion of the total trunk traffic would 

you expect to be carried by such a network? Give reasons for your 
answer.

A 9 (a) Trunk exchanges are provided with access to a trunk transit 
network so that STD calls that cannot be routed over the normal 
trunk net-work (due to insufficient routing digits bding available from 
the controlling register, or to more than 2 links in tandem being 
required) can be set up over the transit network using a fast inter- 
rdgistdrsigrtalliggsystdm.Thd transit network, when fully implemented, 
will enable all group switching centres (GSCs) to be connected to each 
other via up to 5 transit links in tandem. It also allows GSCs to have 
access to international switching centres (ISCs) if direct GSC-ISC 
circuits are not provided. The transit newoidk can also be used for 
alternative routing between GSCs, if so drsired, when the norm! trunk 
route is busy.

(b) See A10, Trlrphh>cn C 1973, Supplemenn, Vol. 67, p. 73, Jan. 
1975.

(c_ For a caH routed from one GSC to another, the most economic 
routing is via a direct link provided there is sufficient traffic to justify 
a direct link; if an intermediate switching point is introduced, the 
cost rises.

As the transit network involves the use of at least one intermediate 
switching point (a TSC) on any call (with an average of 2-3 TSCs 
being used on any call), then the traffic routed over the transit network 
shodd be as small as possible. As the amount of traffic justifies norma 
l-liink or 2-link trunk routings between GSCs for about 94% of the 
total main-network traffic, it is only the residual 6% of traffic that 
needs to be routed via the transit network.

Q 10 (a) Outline the maintenance techniques used in step-by-step and 
crossbar exchanges.

(b) What features of the switching system inflluence the choice of 
maintenance technique?

(c) Which system would you expect to give a better service to the 
customer and why?

CORRECTION

TELEPHONY C, 1970 (Supplement, Vol. 64, July 1971)

A 4 The value of the expression
32.510

P(10:> = 2’718332-5 X 101

is wrongly given as 3-6 x 10-5 The correct answer is 2-782 x 1Q-6.
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TELEGRAPHY C, 1976
Students were expected to answer any 6 questions

Q 1 (a) What are the principal causes of telegraph signa! distortion
(1) between a subscriibier's teleprinter and a Telex exchange when the 

circuit is physicaaly routed in a telephone cable, ami
(it) between 2 terminals of a circuit in a multi-chmmel voice-frequency 

systemt 7
(b) Describe the equipment which would he used at a test desk to 

measure the distortion.

Al (a) A telegraph signa! is said to srifer distortion when the 
received signal elements do not have exactiy their theoretical durations.

(0 Telegraph signals between a subscriber’s station and a Telex 
exchange are normally DC signals, and the principal causes of distor­
tion when the circuit is routed over a telephone cable are listed below. 
Line Capacitance The receiver current rises gradually as the capa­
citance of the line is charged, and this delays the response of the 
receiver to a change in transmitter polarity.
Filter Capacitance and Inductance A low-pass filter is provided to 
prevent interference to adjacent telephone circuits by the transmission 
of unwanted frequencies to line. The capacitance and inductance of the 
filter each siow the rise in line current and have a similar effect to the 
line ttpaviiance.
Line Resistance The resistance of the line causes a reduction in the 
current available to operate the receiver; excessive resistance would 
prevent the current reaching a value sufficient to operate the 
receiver, and the character would be mutilated.
Noise Induced currents from neighbouring pairs in the cable could 
distort signals by aiding or opposing the line current; the induced 
currents are called noise.

(ii) Between 2 terminals of a voice-frequency circuit, the signals are 
carried by alternating currents in the speeeh-frequency band. The 
principal types of distortion and their causes are listed below.
Characteristic Distortion Characteristic distortion is the distortion 
inherent in the system, and is a measure of the electrical characteristics 
of the circuit and equipment; it is constant for any signal element or 
combination of elements. Characteristic distortion is measured when 
the system is in perfect working order, with perfect signals applied, and 
with the circuit free from bias and interference from any other source. 
Bias Distortion Bias distortion is the consistent lengthening or 
shortening of elements of one polarity, with a corresponding shorten­
ing or lengthenmg of signals of the opposite polarity. Bias distortion 
can be caused by unequai signa! voltages, ealth currents, hysteresis 
effects or a badly adjusted relay. It may be corrected by adjusting the 
equipment until the received signals have neuural bias.
Fortuitous Distortion Fortuitous distortion is caused by random 
signals which affect the circuit or equipment. The signals arise from 
currents induced by neighbouring pairs in the same cable, or adjacent 
power wires, or are parasitic currents arising from equipment irre­
gularities. Fortuitous interference is known as crosssalk or noise.

(g) See A7, Telegraphy B, 1972, Suppiemem, Vol. 66, p. 28, July 
if) 73. ' '

Q 2 (a) A local call has been connected through an automatic Telex 
dx■|hatb! .

(i) Draw a diagram to show the main items of equipment in the 
circuit, both outside and inside the exchange.

(ii) Show on the diagram where low-pass filters would be connected.
(b) With the aid of a diagram of a filter circuit and an attenuation/ 

frequency graph, explain the purpose of the low-pass filter

A 2 (a) Sketch (a) shows the main items of equipment in a Telex 
call and the location of the low-pass filters.

(b) Sketch (b) shows the components of the type of low-pass filter 
used in a Telex call, and the attenuation/frequeney graph of such a 
filter. Pairs of wires routed in the same cable are affected by rapacttive 
coupling, and energy from audio-frequency harmonics of a square­
wave teleprinter signaa can be transferred to a neighbouring telephone 
circuit, causing interference. As a square-wave telegraph signal 
contains all the odd harmonics to infinity, a low-pass filter, severely 
attenuating frequencies above about 140 Hz, would prevent rroisialk 
with other Circuits and allow sufficient of the DC signal to pass 
unattenuated to line. For a 50 baud signa!, the fundamental frequency 
is 25 Hz, the third harmonic is 75 Hz and the fifth harmonic is 125 Hz. 
The fundamental wave plus the 2 harmonics mentioned gives a 
reasonable signal.

The nominal values of the components are: Li=L2 = 1'3H, 
Ci = ZhF, and Ri = 200 Q. The design impedance is 1-14kQ,

CALLING SUBSCRIBER

CALLED SUBSCRIBER

(a)

which is an average match to the various types of line plant in use. The 
resistor is provided to damp osculations that can occur due to mis­
match with the modulator. The impedance of the modulator source is 
100 09 (the cold resistance of the current-limiting barretter), and 
oscillations can occur at each change of signal polarity, sufficiently 
severe to mutilate the signaa.

Q 3 (a) A multi-channei voice-frequency (MCVF) telegraph system 
is to be brought into service on a circuit previously used for telephony. 
List the checks and the tests that shoidd be performed on

(i) the bearer circuit, and
(ii) the MCVF equipment.
(b) When the system is in use, what regular tens should be applied to 

ensure that an adequate quality of service is maintained?

A 3 (a) (0 When a 4-wire speech circuit is used for an MCVF 
system, the circuit is split into two 2-wire channels to provide the go 
and return circuits, and any bridging equipment is removed. The 
voice-frequency signalling equipment is disconnected and, at each end 
of the circuit, the 2-wire-to-4-wire hybrid termination is detached. 
Echo suppressors are removed.

To ensure that the performance of all telegraph channels is similar, 
the circuits are adjusted so that the attenuation at any frequency does 
not vary from the attenuation at 800 Hz by more than l dB. The 
frequency drift must also be low, and a check is made of noise and 
intermodulation characteristics.

(ii ) For the MCVF equipment, the general condition of the appara­
tus and wiring is observed, and a check made of fuses, supply voltages 
and alarms. The telegraph relay is checked, cleaned, adjusted and 
operated to each side by current from the distant terminal; this also 
ensures that the received signal iscorrectly filtered, amplified, rectified 
and applied to the coils of the relay. The gain compensation at each 
station is checked, adjusted and set at the mid-point position.

Reversal signals of mark : space ratios 1 : 1, 2 : 2 and 4 : 4, and 
mixed sibnals, are sent to and from each terminal, and the distortion 
is measured. The 2 : 2 signals at 50 baud are used to set the bias to 
the optimum value, and the mixed signals are not expected to require 
more than a small readjustment. The channel interference is checked 
in local operation; the 4-wire circuit is checked in local operation and 
with the distant terminal. The total distortion, including fortuitous 
and chhlacteersiic distortion, should not exceed 8% with mixed signals.

The mains voltages and supply voltages are then varied within the 
upper and lower limits and the tests repeated.

(b) When the system is in service, a 4-weckly check of alarms and 
voltage levels is made. At yeariy intervals, the channd panels are 
checked, the relay is checked and cleaned, and the channd is checked 
in local operation. Correct operation of the SEED-wire guard relay is 
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also verified. The system is lined-up from end to end and the distortion 
measured using 2 : 2 and mixed signals. The common equipment is 
functionally tested also at yearly intervals. Plugs and cords are checked 
every 3 months.

Q 4 (a) With the aid of a block diagram, explain how an outgoing 
trunk circuit may be se/ec/ed from a Telex cordless switchboard.

(b) When a circuit has been seized, how are seeeccion signals trans­
mitted to the distant terminal for an exchange requiring

(i) dial pulses, and
(ii) teleprinter ssgnals?
(c) For a call including a radio link, how may a subscriber recall the 

operator?

A 4 (a) The sketch shows the position equipment and a connecting 
circuit of a Telex cordless switchboard; several connecting circuits are 
provided for each petition. When an incoming caU has been accepted 
by the operator, and the destination determined, the send call key 
is operated and the character figure daft, followed by 2 digits, are 
transmitted from the keyboard, which is located at the operator’s 
desk. The 2 digits represent a code appropriate to the outgoing route 
required, and are used as follows to locate the route on the banks of the 
outgoing trunk hunter. The 2 route-selection digits are selected by 
operating the keyboard; simultaneous 5-unit signals from the keyboard 
are passed to the store and to the transsator, where the 5-unit signals 
are converted to dial-pulse signals. The function of the store is to 
retain the keyboard signals while the translator is converting the signals 
to dial pulses. The dial pulses operate the route marker and mark the 
banks of the outgoing trunk hunter; the hunter rotates until the marked 
route is located, and steps contact by contact over the route until a 
free circuit is found. The circuit is seized and, when the call-connected 
signal is received, the selection digits for the called subscriber are 
transmitted.

(b) (i) Simultaneous signals on the 5-wire output of the keyboard 
are not suitable for transmission over a trunk circuit where the 
distant exchange expects dial pulses. The 2 route-selection digits cause 
the store and translator to be retained in circuit so that the subscriber - 
selection digits, and further routing digits, are converted to dial pulses 
in a similar manner to the route-seieetion digits. The dial pulses are 
routed through the operator’s posstion circuit and the outgoing­
trunk-hunter relay-set to the trunk circuit.

(ii) When the 2 route-selection digits indicate that the distant 
terminal expects teleprinter signals as sefection signals, the store and 
translator are not used. The 5-wire signals from the keyboard are 

connected to the read-out unit, which converts the signals to sequential 
teleprinter signals, and these are transmitted over the trunk circuit.

(c) At any time, either subscriber on a radio caH can recati the 
operator by transmitting the operator-recail signal This consists of a 
hne-feed signal followed by 4 carriage-eemrz signals. The carriage­
return signals cause the through lamp to flash on the appropriate 
circuit. The line-feed signal prevents any subsequent signals being 
superimposed on text already receeved.

Q 5 (a) With the aid of a circuit diagram, explain how, for a IocoI 
call, a circuit between 2 ranks of group selectors in an automatic Telex 
exchange may be

(i) seized,
(ii) heed and
(iii) released.
(b) Explain how the operation diffem for a trunk circuit between 2 

exchanges.

A 5 (a) (i) The sketch shows the circuit of a group selector. If the 
selector is free, a 550 Q path to negative potential is applied to the 
P-wire of the preceding selector at contact BAI. The selector is 
seized by the preceding selector operating to this condition and 
connecting through the send and receive wires. Negative potential on 
the receive wire operates relay A through rectifier Di. Contact Ai 
operates relay B, and earth potential is applied to the P-wire from 
contaacBl ; another contact of relay B operates relay BA (not shown), 
which disconnects the 550 9 testing potential from the P-wire. The 
earth potential on the P-wire prevents seizure by any othe" selector, 
and holds the preceding selector or selectors. Thus, the circuit between 
the 2 selectors is seized and protected from seizure by any other 
selector.

(ii) The selector steps vertically under the control of the calling 
subscriber’s dial, and hunts for a free outlet with a rotary motion. 
Relay AH (not shown) operates to the 550 Q testing potential on the 
P-wire, and contact AHI removes the short-eircuit from relay HA, 
which operates. Contacts HA1 and HA2 connect the send and receive 
wires to seize the next ssleccor; the negative potential on the receive 
wire causes earth potential to be returned on the P-wire to hold relay 
HA when relays A and B release (due to the disconnexion at contact 
HA2). Contact HA3 holds the preceding selee:tor. The group seeeetor, 
the preceding seeeetor and the circuit between them are thus held by 
earth potentiat on the P-wire from the succeeding equipment. The 
purpose of the strap between terminals P and H of the connexion to 
the preceding selector is that, if the preceding selector is a group 
selector, it is held by earth potential on the P-wire from contact HA3; 
if the preceding selector is a time-zone equipment, the holding earth 
is needed on the H-wire only, the strap bring omitted.
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(Hi) The clear signal causes the removal of earth potential from 
the P-wire of the last selector in the train (for example, the final 
selector), which releases relay HA. Earth potential is disconnected at 
contact HA3, releasing the preceding selector and the circuit between 
the 2 selectors.

(b) When a trunk is provided between 2 exchanges, the circuit uses 
2 wires in place of the 3 wires between selectors. This is to effect an 
economy in the use of costly long-distance circuits. A trunk relay-set 
is needed to convert the send, receive and P-wires in the exchange to 
the send and receive wires of the trunk. The relay-set is seized and 
holds the preceding group selector in the manner described above. 
Negative potential is connected to the send wire to busy the distant 
trunk relay-set, which returns a call-confirmation pulse of negative 
potential. The distant relay-set seizes a group selector, guards the 
distant P-wire and prepares to receive the incoming selection signals. 
Both relay-sets are held by negative potential on their receive wires 
during the call. (Bursts of positive potential during teleprinter signals 
are of insufficient length to release the supervisory relays.) When ether 
terminal clears by connecting positive potential to the respective send 
wire, the holding earth is disconnected from the P-wires at each trunk 
relay-set, and the train of selectors at each end is released.

Q 6 (a) What are the advantages and disadvantages of a fully- 
automatic routiner, as compared with a srlm--oldtrmotic routine tester, 
for testing 2-motion selectors in a Telex exchange .

(b) With the aid of a block diagram of the princtpal elements of an 
automatic routiner installation (including anccllary equipment), explain 
the operation of the routiner.

(c) What factors would influence the decision whether to inssatl a fuHy- 
automatic routiner in an exchange .

ROUTE AND

Q 7 (a) Explain the difference between a telegraph repeating relay 
and a telegraph regenerative repeater.

(b) Under what circumstances would each be used?
(c) With the aid of a block diagram, explain the operation of a 

regenerative repeater.
(d) If the selection period of a regenerative repeater is 0'1 ms, what 

is the margin of the repealer to 50 baud signals .

A 7 (a), (b) and (c) See A2, Telegraphy C, 1973, Supplemed, 
Vol. 67, p. 78, Jan. 1975.

(d) The selection period is 0-1 ms in an ideal element length of 
20 ms. Assuming the selection period is at the centre of each element, 
the margin to early or late signals is 9-95 ms. Expressed as a percentage, 
the margin

995= 929" x 00% = 49'75%.

Q 8 (a) Draw a block diagram of a fully-automatic message-retoy 
switching centre.

(b) Explain the operation of the centre.
(c) What methods are used to dea/ with
(1' a last message, and
(ii) a mutilated message 7
(d) State a typicaa format for an incoming message, and explain the 

purpose of each section.

A 8 (a) and (b) The sketch shows a block diagram of a fully-auto- 
matic message-reay centre. The incoming message is prepared at the 
distant station to conform with a fairly rigid format in order that the 
relay-centre equipment may rasily recognize start-of-message, seral- 
nmnbeer priority, drssinotion-address and end-of-message codes. Each 
message received is stored temporarily in the incoming store so that 
the destnation indicator can be examined and the serial number 
checked; the channel remains connected to the store until the ewLiof- 
message srqurncr is received.

The routing and priority information is decoded by the register and 
translator and held in the route store until the common-cornrol 

' equipment is ready to process the call. A message destined for a route 
having one or more free channels is transmitted from the incoming 
store to the outgoing line circuit via a direct connecting circuit; the 
outgoing line circuit and the connecting circuit are allocated by the 
common-control equipment. If all the outgoing circuits on the 
required route are busy, an intermediate connecting circuit is used, 
and the message is held in the intermediate store. When the outgoing 
circuit becomes free, the common-controI rquipmrnt selects the 
waiting message with the highest priority and connects the store to 
the line. Before any message is transmitted to line, a prefix generator 

is connected to transmit a new stort-qf-messagr prefix together with a 
serial number appropriate to the outgoing channel.

(c) Three features of the system protect messages fromirretrievable 
loss. The first is the use of incoming-channel sequential message­
numbering equipment, which checks that the serial number carried 
as a prefix to each message is one integer greater than that of the 
previous message received on that channel. This enables missing 
messages to be identified and a request made to the originating station 
for the message to be retransmitted. Messages are safeguarded in 
transst through the system by measuring the delay time in storage, 
and by periodicaHy checking the transmission paths through the 
system. Alarms are provided to indicate the faulty equipment, and any 
message in store is routed to the manuaa positions. The third safe­
guard is the provision of a monitor teleprinter for each outgoing 
circuit. Each outgoing message is recorded so that a lost or mutilated 
message can be retransmitted if requested by the distant terminal.

(d) A typical message format, to CCITT recommendations for an 
automatically-switched system handling telegrams is shown in the 
chart.

ZCZC GEB099 WY79
GBLD HL URWA 013
WASHINGTON 13/12 13 1205

3
IT
- MIDBANK LONDON-

3
TEXT

3
SiGNATUR!

10
NN NN

10
Nou: The figures between groups indicate the number of Ii^e-frrd characters 

transmitted

The first line, known as the numbering line, contains the sarr-oo~ 
message signal consssting of the characters ZCZC, the channel- 
srqurncr number consisstng of 3 letters identifying the channel and 
3 numerals constituting the senaa number together with up to 12 
characters giving the telegram identification group.

The second line is known as the pilot line, and contains the destina­
tion indicator which consists of 4 characters, the first nair indicating 
the country of destination and the second pair characterizing the 
destination office in that country. These are followed by 2 characters 
indicating the priority and class of traffic of the message, 4 characters 
indicating the country and office of origin, and o 3-figure number 
giving the number of chorgeoble words.

The third line contains the preamble to the message. This may vary 
according to the requirements of the originator but, in general, the 
preamble consists of the office of origin in plain language (as opposed to 
the 4-lrttrr code in the second line, which is used for automatic
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routing), the time and date of origin, the number of words in the 
message and the number of chargeable words.

The fourth line contains the address. The character ■ (correspond­
ing to Combination No. 1, upper case) is inserted at the beginning 
and end of the address for easy recognition.

The text of the message follows, and then the signature and end-of- 
message signal, NNNN.

Q 9 Explain briefly the following terms as applied to high-frequency 
radio circuits:

(a) multi-path propagation,
(b) diverssty working,
(c) error-detecting code, and
(d) error-correcting system.

A 9 (a) Long-distance radio communication at high frequencies 
depends on the existence of the ionosphere, which is concentric with 
the earth at an altitude of about 100 km. High-frequency radio waves 
are reflected from the ionosphere, or are refracted withinit; the amount 
of reflection or refraction depends upon the frequency, the angle of 
incidence and the state of ionization, which may vary with sunflght 
or with the time of day. Over great distances, a receiver may detect 
multiple reflections of the same signal; one reflected sign! may arrive 
earlier over one path than a reflection of the same signal over a second 
path, with differences of up to several miliSseconds bring possible. 
This is known as multi-path propagation, and the effect is to lengthen 
or shorten the signal element, possibly to the extent of mutilating the 
chaiacter.

(b) Diversity working is adopted to counter the effects of fading. 
The amount of fading over a particular path is unpredictable, and 
signals received some distance away on a second receiver may be 
stronger and perhaps not subject to fading. Diversity working uses 
2 received signals from separate receiving aerials, or from duaa- 
frequency transmissions, and the better signalis selected for onward 
transmission.

(6) An error-detecting code is a code which contains a high degree 
of redundancy; that is, the number of elements exceeds that required 
for transmission of the characters in the code. For example, the 
Internation! Alphabet No. 2 uses a 5-unit code, giving 25 = 32 
posrible combinations, all of which, except for Character No. 32 (all 
space elements), are used for characters. Should any element be 
transposed, such that a mark element is received in place of a space 
element, a different character is printed because the received signal 
must represen one of the characters in use. To overcome this, pro - 
tective codes, called error-detecting codes are used; the receipt of an 
error is detected by the receiving equipment, and results in the printing 
of a special error sign or the initiation of retransmissíon. The error­
detecting codes are chosen so that the effect of the more common 
forms of mutilation produce an unusual combination at the receiver 
which can be recognized as an error. A 6-umt code can be constructed 
to give 26 = 64 combinations, which means that 32 combinations are 
not used; a mutilation resulting in the reception of a redundant 
combination is treated as an error. Alternatively, the sixth unit can be 
added to each combination as a parity bit, so that all combinations 
have an even (or odd) number of mark or space elements.

An improvement can be obtained by the use of a 7-unit code and, 
of the various forms which this may take, the code using 4 space 
elements and 3 mark elements is most favoured. The total number of 
usabk' coml'inatiói:s

(7 - 3)1(7 - 4)1
As the total number of combinations is 27 = 128, a redundancy of 

93 combinations results, and this gives good protection against 
mutilation. Error-detecting codes have the disadvantage that they 
need more signal elements than does the baric code for each combina­

tion and, therefore, either reduce the speed of signalling or require a 
higher-speed channel.

(d) An error-correcting system uses master-and-slave working 
between the home and distant stations. Transmission normally uses 
the 7-unit 4-plus-3 code described above, with synchronous transmis­
sion. The detection of an error by the distant equipment causes a 
retransmit signal (RQ) to be sent to the home station, which ceases 
norm! transmission and retransmits the last 4 characters sent If 
these are received correctly, normal transmission is resumed but, if 
an error is again received, the distant station retransmits the RQ 
signal and the cycle is repeated. Cycling continues until conditions 
improve and reception is normal. At the home terminal, 2 stores are 
needed: one for the 4 characters needed for error correction, and 
another for characters which may be received from a Telex circuit 
while cyding is in progress.

Q 10 (a) Draw a block diagram and explain the operation of equip­
ment suitable for the automatic ticketing of international Telex calls.

(b) What information regarding the setting-up of the call is recorded 
on the calling-subscriber's teleprinter .

(c) What information is recorded in the exchange to form the basis of 
the charge for the call?

(d) Why is automatic ticketing provided in preference to operating the 
s’lbscrbes’. ms/.e-Ç

A 10 (a) and (d) See A4, Telegraphy C, 1972, Supplement, Vol. 66, 
p. 55, Oct. 1973.

(b) The information recorded on the subscriber’s teleprinter regard­
ing the setting-up of a call is

(i) the reference code of the call (this enables the exchange equip­
ment used for the connexion to be identified),

(ii) the time (this information is the same as recorded in the head 
sequence on the ticketing machine),

(Hi) a local reccord of the answer-back code (this information is 
requested by the ticketing equipment to identify the caller),

(iv) the praceed■to-setect signal, KEY-+ (this sign! is sent for 2 
reasons: firstly, to request the subscriber to transmit the selection 
digits and, secondly, as a reminder to use the keyboard and not the 
dial), and

(v) a local record of the sriection digits transmitted.
(c The information recorded in the exchange is shown in the table.

Head Sequence Tail Sequence

Entry-separation characters 
(4 carriage returns)

Entry separation characters 
(4 carriage returns)

Head marker (letter sufi and 
line fed)

Tail marker (linefeedand letter 
shift)

Reference cole (access relay-set 
cole and ticket-reperforator 
cole)

Reference code (access relay­
set code and ticket-reperfora­
tor code)

Time Time
Calling subscriber’s answer-back 

cole
Duration (in self-checking 

code)

Selection signals Duration (in digits of Inter - 
national Alphabet No. 2)

Route-indication character or 
transxt-register cole

BASIC MICROWAVE COMMUNICATION C, 1976
Students were expected to answer any 6 quessions

Q 1 (a) Explain why, at the surface of a perfecc conductor, an eleccro- 
magnetic wave can have no component of

(1‘ the E-fieedparallee to the surface, and
(ii) the H-fieldperpendicidar to the surface.
(b) Fig. 1 represents a vertically-polarized wave propagated in the 

direction AB and meeting a horizontaa perfectly-conducting surface at 
an an/le 0.

(i) Explain, with the aid of sketches, any changes that occur in the 
E-fied ari the fi/d on ¡■■slieciioi!.

(ii) Draw a diagram showing the direction of the E-fied for the 
incident anti reflected waves.
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Fig. I

A 1 See A1, Basic Microwave Communication C, 1975, Supplement, 
Vol. 69, p. 85, Jan. 1977.
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Q 2 (a) Briefly describe a method of mea5urrng the approximate 
values ofthe^folWiwrrgparameters of a Iow-Ioss transmission line

(i) the characteristic imppeance, and
(ii) the propagation vriociiy.
(b) A 3T/8 section of low-loss coaxial cable is terrtiraird in a shori- 

circrit. Explain, with the aid of phasor diagrams, whythi input impedanee 
of the section is a pure rhactanlch.

A 2 (a) By considering the voltage and current at a distance [metres 
from a short-circuit on a low-loss transmission line, it can be shown 
that the input impedance oftheime,Zsc, isjZotan /i/ohms, where Zo 
is the characteristic impedance, , = 2riA and ) is the wavelength 
(metres). Similarly, the open-circuit impedance, Zoc, is - -jZo cot ¡3/ 
ohms. The characteristic impedance can therefore be obtained by using 
a bridge to measure the input impedance of the line terminated by 
(0 a short-circuit and (ii) an open-circuit, both impedances being 
measured at the same frequency. From the 2 measurements,

Ao = V(ZocZsc) ohms.

(ii) The propagation veldty can be obtained by dividing 2So by 
Zoo, giving tan fJ3 = :tj//Zsc/■'ZOci■ At any point on the line, 2.0 
and Zoe are reactive and of opposite signs, so that tan /3 always has a 
real value. As /i = 2tt/M, the propagation velodty, ii is Zuf/p metres/ 
second, where./’is the frequency (hertz). It should be noted that /i i 
multivalued; solutions occur in each quandrant of ¡33, The approxi­
mate value of ¡9 must therefore be known. Failing this, an approximate 
value can be readily obtained by measuring the input impedance of a 
line terminated in a short-circuit, and progressively increasing the 
frequency until the first high-impedance point is reached. Under this 
condition, the line is M4 metres long. If this length is called 2, then 
A = 42. Hence> . , . . .

i = 4z/melte-/-tiond.
INPUT 
IMPEDANCE: CAPACITIVE m

DISTANCE A B ___
EDOM I I ~ I ■ L.
TERMINATION. 3m/S W4 RiB SHORTCIHCIIIT

mDUCTIVg 0
COAXIAL 

I INI o o-

(b) Referring to the sketch, the reflected current, 1, al the short­
circuit termination (D) is in phase with the incident current, Ii, giving 
a current of twice the value which would be present in an infinite line 
of negligible loss. The reflected voltage, V,, is in antiphase to the 
incident voltage, Vj, fulfilling the requirement that the voltage across 
the short-circuit must be zero. Moving back from the termination in 
the direction of the source to point C, the incident wave is advanced, 
but the reflected wave is retarded. The total current at point C is the 
vector sum of the 2 components, as shown. The incident and reflected 
voltages behave similarly, but the resultant is 90° in advance of the 
current, so that the impedance at point C is inductive. At point B, the 
impedance becomes infinite. At point A, the current leads the voltage 
by 90°. The input impedance at point A is therefore a pure capacitive 
reactance.

Q 3 (a) For dominant-mode propagation in a rectangular waveguide, 
it is recrmmhnded that frequencies of between i-25 and i- 87 times the 
critical frequency shtoud be used. What would be the disadvantage of 
energizing at a frequency of

(i) I -1 times the hriticalf■equenhy, and
(ii) 2-4 times the hriticalf^^ec^uency?

(b) A rectangular waveguide has a cioss-section if4 X 2 cm. Calculate
(i) the lowest rhcnmmhndhd frequency at which it should be energized, 

and
(ii) the guide wavelength if it is energized at a frequency of 5 GHz.

A 3 (a) (i) The relative-loss/relative-frequency graph foi the domi­
nant (TEN) mode in a rectangular wavegiudd is shownin the -ketch. 
It can be seen that the loss at a working frequency, f of ii times the 
critical (cut-off) frequency,/;, is more than twice the loss in the middle 
of the usehui frequency range at i-5/c. The group delay is also in­
creased as the frequency approaches the cut-off point. The attenuation 
and differential delay for frequencies near fc would therefore vary 
cons-derablh over the range of frequencies transmitted along the 
waveguide.

RELATIVE FREQUENCY (Hfc)

(ii) At a frequency of 2-4/c, the waveguide is more than 2 half­
wavelengths wide, and can support both the TE” and TEzo modes. 
This could cause disspation of power in the unwanted mode, and 
could also cause problems of interference between the waves due to 
the 2 modes having different propagation velocities and attenuations 
per unit length.

(b) OTThe cut-off frequency corresponds to half a frcc-space 
wavelength (At) at the cut-off frequency, equalling the wide dimension, 
a, of the waveguude; thus, he = 2a. Since the frequency multiplied by 
the wavelength is equal to the velocity of light, c, then

, _ c_3i>íno_, „r-u, 
U~Zrn 2x4 =3-75 GHz.

Therefore, the lowest recommended frequency

= t■25/i = i 25 x 3-75 = 4'688 GH2.

(i°Now’ rit? = ini-An'

where As is the guide wavelength, hn is the free-space wavelength, 
and A -= 2a. At 5 GHz, 30 = c/= 3x 10'0/5 X i09 = 6 cm.

" Asz 62 82

.'. As = 9'07 cm.

Q 4 Fig. 2 represents a cavity made by closing the ends of a iG cm 
length of 6 x 3 cm waveguide. The cavity is to be excited at its lowest 
ie:soHanifrequency by a coaxial cable which may be connected at either 
X or Y.

(a) (i) For each of these positions, state with reasons whether a loop 
or a piobe would be ieqmrrh.

(ii) For the coupling requiring a loop, explain with the aid of a well- 
diawn diaglatri how the loop shotu<d be portioned.

(b) Calculate the lowest f-equency at which the cavity resonates.

(a)
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A 4 (a) (i) The configuration of the electric (E) and magnetic (H) 
fields in the cavity at the lowest resonant frequency are as shown in 
sketch (a). At position X, the magnetic field is zero and the electric 
field is a maximum. A probe is necessary at this point to couple to the 
electric field. At petition Y, the eleccric field is zero and the magnetic 
field is a maximum. A loop is necessary at this point to couple to the 
magnetic field.

(u) The positioning of a loop at Y is shown in sketch (b). The loop 
is oriented so that the maximum magnetic field passes through it. The 
coupling can be reduced by rotating the loop. The orientation is 
adjusted to give a loop area sufficiently effective for adequate coupling, 
but not so great that the Q-factor of the cavity is unduly reduced by 
the shunting effect of the coupled load.

(1) The relationship between free-space wavelength (Aq) and guide 
wavelength (Agg, for propagation in a rectangular waveguide of broad 
dimension a, can be applied to the rectanguuar cavíty, which has a 
length of Ag/Z at its lowest resonant frequency.

- ’ ’ + * _’+_i ■‘ mao -A T gfim m^n2
A 2 1'29 cm.

The frequency, f, is given by the speed of light divided by Ao.

. 3 X IQio _
._• f ' 3 1X-29 ' 2'915 GHz'

Q 5 (a) Fig. 3 shows the path of a wave from a source, T, located at 
the focus of a parabotic reflector. Using the dimensions shown, calculate 
the focal length of the reflector.

(1 Explain briefly why a paraboUc reflector can curve/ a spheercaa 
wave into a plane wave.

(c) The transmitting aerial of a microwave link has a gain of 600 with 
respect to an isotropic source. Calculate the power that must be supplied 
to this aerial to ensure that a correctly aligned receiving aerial ofeflfective 
aperture 4 m2 will receive 1 /uW at a range of 12 km.

—90 cm------------------------------ C

Fig. 3

A 5 (a) A property of a parabolais that the distance TAB is constant, 
regardless of the petition of A on the parabola.

TA’B' = TAB = 60 + 78 = 138 cm,

or 2AT + TB' = 138 cm...................... (1)

Also A’T + TB’ = 90 cm.................. (2)
Subtracting equation (2) from equation (1) gives the focal length

= A’T = 138 - 90 = 48 cm.

(b) The fact that distance TAB is constant for all positions of A 
means that a spherical wave radiated from the focal point and reflected 
at the parabolic surface arrives at all parts of plane BC in the same 
phase. The reflected wave-front is therefore plane and parallel to plane 
BC.

(c) In free space, the power radiated from an isotropic radiator is 
distributed uniformly over the surface of any sphere centred on the 
radiator. The surface area of a sphere is 47 times the radius. Thus, 
for a range of 12 x 103 m, the power is distributed over an area of 
471 x 122 x 10«m2. The receivvng aerial collects 1 [iW from an area 
of 4m2, so that the transmitted power required from an isotropic 
'ahilio^ is

477 > 12 X100X1X 10-s-------------------4----------------- W.

However the transmitting aerial has a power gain of 600 (with 
respect to an isooropic radiator) in its correctly aligned position, so 
that the power required from the transmitter

4r < 122
—------------ W = 754 mW4 x 600 W 454 m.

Q 6 (a) A modulated wave comprises a 10 V 1500 kHz carrier and 
2 side-frequency components: namely, 4 V1505 kHz and 4 V1495 kHz. 
Explain, with the aid of phasor diagrams, how these components can be 
assembled to produce

(1) pure amplitude modulation, and .
(H) phase modulation with some amplitude modulation.
(b) From the diagram for part (a) (ii), calculate
(1) the maximum deviation in radians, and
(ii) the depth of the amplitude modulation.
(c) Why, in practice, is frequency modulation of a carrier followed by 

several stages offrequeney multiplication to obtain the required dentation .

A 6 (a) (1) Pure amplitude modulation can be produced by adding 
the carrier (V1500) and side-frequency (V1505 and V1495) components 
together, arranging that all three are in phase at some point 1 = Orad 
(see sketch (afi, where +fi is the phase angle between the side fre­
quencies and the carrier. After a time such that phasor VJ505 has 
advanced on phasor V1500 by ^¡radians, phasor V1495 will lag V1500 
by (Ii radians. The sum of the 3 phasors, Vres, is still in phase with 
the carrier, but its amplitude is reduced. This process continues, with 
the aimplitude’,of Vres varying between A0 and B0 at a frequency of 
5 kHz. The modulation factor is haf the excursion of Vres divided by 
the carrier amplitude; that is, (18 — 2)/(2 X 10) = 80%.

Vises 
= 4V

VnSS
= 18V

ÿ=0ad

Csoo 

4 8

V^ 0 
= wv

0

V| 5, 
= 4V

blES = 2V

¥ ÿ=nrad
0

(a)

(ii) If the 3 components are assembled with the side frequencies in 
phase at a point 90° to the carrier (see sketch (b)), the phase of the 
resultant varies through 20 radians at a frequency of 5 kHz. The 
resultant is therefore phase-modulated, with a deviation of + 0 radians, 
but it also contains some amplitude modulation because Vres varies 
in length between CO and DO. This variation occurs twice for each 
cycle of the phase modulation, and therefore has a frequency of 
10 kHz.

(b) (i) From sketch (b), the maxxmtim deviation

. R- 0 m tan 1 -8’0 = 0.675 rad.
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(ii) The modulation factor is half the excursion of Vres divided by 
the mean length of Vres. Thus, the modulation factor

o-5{v(102 + 82) - 10) 
o-5{V(102 + 82) + 11}’

= 12-3%.
(e) The process of frequency multiplication multiples both the 

carrier frequency and the deviation, and gives the required frequency 
deviation at the transmitted frequency for a much smaller deviation 
at the exciter stage. For example, a typical ultra-high-frequency 
transmission can be obtained from a 4 MHz exciter by multiplying 
(in stages) by 108 to give 432 MHz. If a maximum deviation of 
+ ltkHz is required, it is obtained by a 15/108 kHz = 139 Hz 
deviation at the exccter. This can be achieved by simple phase modula­
tion of a crystal-controlled 4 MHz source, simplifying frequency­
stability problems. A reduced deviation at the exccter also reduces 
non-linear distortion and unwanted amplitude modulation, as is 
apparent from sketch (b) if 0 is considered to be small.

Q 7 (a) Explain briefly what is meant by
(1' white noise,

(ii) thermal-agitation noise,
(Hi) shot noise,
(iv) noise temperature, and
(v) impulsive noise.

(b) The input stage of a receiver has a gain-bandwidth product of 
50 MHz and a noise factor of 4 dB. Taking kT as 4 X 10 21 J, calculate 
the noise power generated in the stage.

A 7 (a) (1 Noise is said to be white when the noise power per unit 
bandwidth is distributed uniformly over the frequency range 
concerned.

(ii) Thermal-agitation noise is white noise caused by the thermal 
agitation of electrons in a conductor. The noise power available is 
kTB watts, where k is Boltzmann’s constant (1-38 x 11-23 J/K), Tis 
the absolute temperature (kelvins), and B is the bandwidth (hertz).

(Hi) Shot noise is caused by the random emission of individual 
electrons from, for example, the cathode of an eleccronic tube, or by 
the tandom movements of individual charge carriers in a semiconductor 
d ev1ce.

(iv) Noise temperature is the equivalent temperature of a resistor 
producing the same noise power as is present in a given circuit. If N 
is the noise power in the circuit (watts), the temperature of an equiva­
lent naise source is T = N/kB kelvins, from the formula given in 
part (ii).

(v) Impulsive noise is caused by interference from such sources as 
power switching and telephone dial pulses, and can be defined as 
random transient disturbances.

(b) Noise factor, F, which is the signal-to-noise ratio at the input 
to a stage divided by that at the output, can also be defined as

P GNi+N- . , Nr
F_ GNj = 1 + GN-’

where G is the gain of the stage, N; is the input noise power (watts), 
Nr is the noise power generated in the stage (watts), and Fand G are 
expressed as linear numerical ratios.

Since N = kTB watts,

Nr
kTBG

or Nr = kTBG(F - 1 watts.

Now, kT = 4 X 10-21 J, BG = 50 MHz, and F = 4 dB, which 
is a linear ratio of 100—4 = 2-512.

.-. Nr = 4 x 11-21 x 50 > 106 x (2-512 - 1 W,

= 0-302 pW.

A 8 (a) The consit■uciion of a typical Gunn-diode oscfilator is 
shown in the sketch. The Gunn diode is made by growing an epitaxial 
layer, about 11 /im thick, of crystalline n-type gallium arsenide on a 
substrate of more heavfly doped n-type material. An alloyed contact 
is made to the top surface of the active expitaxial layer When an 
eleccric field exceeding about 350 V/mm is applied, a high-eleccric-field 
domain developes at the cathode. The domain drifts across to the 
anode at a speed of about 103 mm/s; another domain develops at the 
cathode, and the process is repeated. The current thus contains a 
component whose frequency is related to the transit time; for the 
velocity and distance figures given above, the corresponding frequency 
is 11 GHz. The current and voltage fluctuations are coupled via thc 
mounting post to the waveguide cavvty, which resonates at half a 
guide wavelength, Ag/Z. The oscillations are coupled to the output via 
a matching-screw section.

loaoinb-adjustwent screws

CONDUCTING 
MOUNTING POST

COUPLING
L.OIT 
FROM

VARACTmn 
DIODE

BIAS SUPPLY VIA OVER-VOLTAGE 
eaoTEcnoN circuit

GUNNOODE

TUNING 
PLUNGER

RADIU-fREUUENCY CHOKE

OUTPUT 
CONNEXION

FLANGE

The cavity can be mechanically tuned by adjusting the short­
circuit plunger. Electrical tuning can be effected by altering the bias 
on a varactor diode, which acts as a variable capacitance and is loop­
coupled into the cavity. A radio-frequency choke is provided in 
the DC supply to the diode at the point where the mounting post 
enters the cavhy. This restricts the osefllations to the cavhy, and 
inhibits any spurious oscfllations in the bias circuit; such osefllations 
can be exceed by the negative resistance presented by the Gunn diode 
to the biasing circuit under working conditions. Protection circuits 
are usually incorporated in the bias lead to avoid damage by 
voltage spikes or misuse.

(b) (i) The Gunn-diode osefllator is very compact, and can be 
made smaller than the equivalent klystron. It requires only about 1 W 
of power at a few volts, and its power unit is therefore much smaller 
than that of a klystron, which must deliver about 11 W at 300 V with, 
in addition, a low-current supply adjustable between —350 V and 
— 650 V.

(ii) A Gunn osefllator can be mechanically tuned by up to about 
50% whereas, in a klystron, mechanical tuning is limited to about 11 %.

A Gunn cscAlator can be electronically tuned by a varactor diode 
by up to 20°C, whereas a klystron can be electricatly tuned via the 
reflector voltage by only about 0-5”4 between half-power points.

(Hi) Modern medium-power Gunn osefllators, and smaU local- 
oscfllator klystrons, both produce an output of about 50 mW (at 
11GHz), which is more than adequate for local-oscUlator require­
ments.

(iv) The klystron requires about I0W of power, and the Gunn 
osccilator about 1 W to produce the same output power, so that the 
modern Gunn osefllator is correspondingly more efficient.

(v) The frequency-moduiation noise generated in a Gunn osefllator 
is less than in a typical klystron.

The amplltude-modulation noise output of ether source in a local 
osefllator is less important, espeecaUy if a balanced mixer is used. 
Howevefr the low-noise performance of a Gunn osefllator is superior 
to that of a klystron.

Q 8 (a) Briefly describe, with the aid of a sketch, the construction 
and action of a Gmm-dlade osdllator.

(b) Under the following headings, compare the Gunn-diode oscìllator 
with the reflex klystron for use as a local osciilator in a receive!':

(i) size (including power supplies),
(ii) controllable tuning range,
(ill) power output,
(iv) power efficiency, and
(v) noise.

Q 9 (a) Band limitation of the modulating signaa is required before 
pulse modulation takesplace. Explain this statemeu, usingas an example 
a basebandf-om 100 Hz to 9-5 kHz and a sampling rate of 15 kHz.

(b) A 6 GHz microwave link carries a train of equaa mark and space 
pulses of duration 4 pits. State, with reasons, the following requirements 
of the receivee:

(i) the minimum value of intermediate-frequency (IF) bandwidth, 
(ii) the order of the IF, and
(iii) the upper limit of thefeequency response of the video amjpifier.
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A 9 (a) Distortion of the received signal results if the highest 
modulating frequency exceeds half the pulse-repetition frequency, f, 
of the sampling pulse train. This can be avoided by limiting the band­
width of the modulating frequency so that the maximum modulating 
frequency is less than f/2.

■i <=15kHz 2f=30kHz 3 = 45 kHz

The frequency spectrum of the sampling frequency, assuming a very 
short pulse duration, is as shown in sketch (a). Modulation by a 
complex signa results in each line carrying a pair of sidebands as 
shown in sketch (b). When the highest modulating frequency (9’5 kHz 
in the example) exceeds half the sampling frequency, the sidebands 
overlap. as shown in sketch (c), and the original modulating signal 
cannot be extracted without distortion.

(b) (0 The pulse-repetition frequency is the reciprocal of the 
duration of one cycle. Thus, f = 1/(2 X 4 X 10*5) Hz = 125 kHz. 
The square-wave modulation contains components off 3f 5fetc. The 
minimum requirement for the IF bandwidth is that it should pass the 
first pair of sidebands. The minimum bandwidth is therefore 
2f = 250 kHz. This figure makes no allowance for instabiilty of the 
carrier and locot-oicítlator frequencies, which would offset the signal 
ir-om the cenre o f the IF band.

(H) An IF of, say, 70 MHz would meet the design requirements, 
which are that:

(i) the IF must be large compared with the 250 kHz bandwidth 
to simplify the derign of the IF stages,

(2) the IF must be a sufficiently large percentage of the carrier 
frequency of 6 GHz to simplify the design of the input filter, which 
must reject the image frequency, this being separated from the wanted 
frequency by twice the IF, and

(3) the IF must be sufficiently large to avoid the need for severe 
restrictions on the frequency stabblity of the carrier or the local 
oscillator.

(iii) The frequency of the demodulated signal is 125 kHz; that is, 
the difference between the carrier and the extremity of one of the 
sidebands. The upper limit of frequency response of the video amplifier 
must therefore also be 125 kHz.

Q 10 The circuit shown in Fig. 4 is triggered by positive-going pulses.
(a) With the aid of time-relafed waveform diagrams showing emitter 

and autput-voltage variations, explain the action of the circuit.
(b) State, with reasons, the eflect on performance of
(1) making time-constant C1R1 three times the intervoa between trigger 

pulses, and
(ii) reducing the ratio RzRil

(c) Explain briefly how distortion of the output waveform could be 
reduced.

Fig. 4

A 10 (a) In the idle state, a small negative bias (sketch (b)) is 
applied to the transistor’s emitter by the potential divider formed by 
ressstors R2 and R1. Capacctor Cl is charged according to the ratio 
R2zRi. The collector current is zero, and the voltage at the output is 
— Vvolts (the negative supply voltage), as shown in sketch (c). The 
positive input pulse (sketch (a)) is passed to the emitter through 
coupling copacitor C2 and emittrl•-sourcf-imprdoncr limiting resistor 
R3. The transistor conducts, the output voltage rises to 0 V, and the 
collector current rises at a constant rate via the inductance of the 
transformer’s primary winding. The voltage across the primary 
winding induces a voltage in the secondary winding that assssts, and 
then replaces, the posstive voltage applied to the emitter by the 
incoming pulse (skerch (b)). The transistor rapidly attains the bottomed 
condition, and capacctor C1 loses its charge via the emitter current. 
Discharge of capacctor C1 allows the junction of lessstors R1 and R2 
to go negative for as long as the opposing voltage from the transformer 
is sufficient to keep the transistor conducting. Alternative factors 
determining the pulse length are saturation of the transformer core, or 
limitation of the collector current.

The emitter bias becomes negative and, through regenerativeaction, 
the transistor rapidly switches off. The sudden decrease of current 
through the inductive load generates a negative voltage spike at the 
collector, followed by damped oscUlations as the output voltage 
settles back to ~V'voits (sketch (c)). In the meantime, capacctor C1 
recharges through resrior R2, and the circuit is restored for the next 
input pulse. (If the negative bias is small, R1 > R2 and the relevant 
time constant for recharging is C\Ri-)

(b) (1) If time constant GR2 is 3 times the interval between the 
trigger pulses, the first pulse will trigger the circuit as described above 
but, when the second pulse arrives, copacitor C1 will be only partially 
recharged, and the emitter will have a heavy negative bias. The input­
pulse voltage will be insufficient to overcome the bias. By the time the 
fourth pulse arrives, copacttor C1 will be charged to 63% of its, final 
value and, provided that the input pulse is large enough, the circuit 
will betriggered onceagain.Thus,thecircuit will behave as a frequency 
divider.

(ii) The ratio R2IR1 determines the static emitter bias as a fraction 
of — Vvolts. A reduction of this ratio will make the circuit easier to 
trigger, but will also make it more susceptible to false operation to 
variations in the amplitude of the triggering pulse. ■

(c) The large negative voltage spike on the output waveform can be 
reduced by adding a diode in series with a damping resistor across the 
primary winding. This dissipates the energy from the transformer, and 
allows critical damping to be achieved, as shown in sketch (d).
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Students were expected to answer any 6 questions

Q 1 (a) Explain how a radio transmitter can cause audible interference 
with a telephone circuit.

(b) Describe the measures which can be taken to overcome this type
of interference.

A 1 See A1, Line Plant Practice C, 1971, Supplement Vol. 65, p. 84, 
Jan. 1973.

Q 2 A beam of cross-section as shown in Fig. l is made of sleek The 
safe working stress for steee is HO MPa and the density of the s7re- is 
7250 kg/m3.

(a) If the beam is simply supported over a span of 6 m, calculate the 
safe working load which could be uniformly distributed over the span.

(b) Draw a bending-moment diagram for the loaded beam.
(c) What is the maximum bending moment of the beam ?

A 2 (a) The cross-sectional area of the beam
= 2 x (150 X 20) + (185 X 20) = 9700mm2.

Thus, the volume of the beam
= 9700 X 6 > 10<s= 0-0582 m3.

Thus, the mass of the beam
= 0-0582 X 7250 = 422 kg.

Now, for stresses in a loaded beam,

M-1 = -y newtons/metre/

where M is the bending moment (newton metres), I is the moment of 
inertia (mrirrs4), _ is the stress in the beam (pascals), and y is the depth 
of the neutral axis (metres).

3
For a beam, I = 1% metres'*,

where b is the breadth of the beam (metres), and d is the depth 
(metres).

T. , 0-150 x 0-2253 0-130 x 0-1853Th"S’ I =--------- -2------------------------- - ---------  m4,

= 0-0000738 m4.

Mmax =max newton metres,

140 x 106 x 0-0000738...
-----------112 5 x -0-3------Nm, 

= 91-84 kN m.
But, for a uniformly distributed load,

.y WL2 . .Mmax = -x newton metres, o

where W ¡s the mm! weight per unk tength (newtons/metre) and L is 
me kngth of the beam (metres).

. w = «Mmax_ 8 x 91-84 = 20-41 kN/m. 
L2 36

Now, the weight per unit length of the unloaded beam

422 x 9-81
' 6 = 690 N/m.

Thus, the safe working load = 20-41 - 0-69 kN/m,

2 19-72 kN/m.
(b) The bending-moment diagram is shown in sketch (a), where x is 

the distance along the beam (metres).
(c) The maximum bending moment is 91-84 kN m.

Q 3 (a) Describe the distribution of pressure within the ground caused 
by a traffic load. Explain how this is used to calculate the forces on a 
manhole.

(b) Calculate the horizmnal load on a manhole wall at a point 0-83 m 
below the ground due to a static load of 90 kN applied at the surface 
at a horizomal distance of1-18 m from the wall.

A 3 (a) The distribution of pressure resulting from an external load 
applied at the surface of a carriageway can be estimated using 
Boussinesq’s theory. The sketch shows a load, Pnewtons, applied to 
a surface at point A. The stress-produced at X is /pascals; r is the 
radial distance between A and X (metres), and a is the angle between 
AX and the vertical through A. Boussinesq’s theory gives the relation- 
5hip

= 2—4 cos2 o pascals. 2W2 ■ r

Horizontal and vertical earth pressures can be obtained by 
resolving the equation for/into its vertical and horizontaa components, 
fv and fh, givmg

, 3P , ,
fV = 2—1-2c053 a Pascal

and fh = 2—, cos2 x sin a pascals.¿th £

Thus, the horizontal and vertical components of the force can be 
used to estimate the load on a manhole roof or walls.

Simpler methods can be used to evaluate the str-esses due to traffic 
loads in manhole design. These loads are assessed by assuming the 
traffic load to be equivalent to an extra depth of soil. This surcharge 
of s.oi is then introduced into the Rankine formula.

(b) The information given implies that the Boussinesq formula shouta 
be used to obtain the load.

4tm.Now r = 1/(1-188 + 0-832) = bi

Also, 0'83 __,„._ 1-18cos a = 1-44’ and sm a = i-4-.1-44 1-44

thus. .. 3 x -90 ■ 03 0Ç
■h 217 x 1-442 X 1-442 '

„ 1-18 D x mi4ph

= 5-642kPa.

Q 4 For a presssu-rized cable system,
(a) give details of 8 advantages of using such a system,
(b) give details of 3 disadvantages of using such a system, and
(c) briefly outline the effect that dtfefllt operating pressures have 

on stresses in a cable--oint sleeve.

A 4 (a) The advantages to be obtained from a pressurized cable 
syssem are given below.
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(1) Cable pressurization provides a higher standard of elecCrical 
insulation. This is due io the reduction in cable sheath defects and the 
desiccating properties of the gas.

(ii) Cable sheath faults become apparent immediately the sheath is 
damaged. Thus, sheath repairs can be carried out before moisture 
enters the cable to cause circuit faults.

(Hi) The internal gas pressure provides protection for the cable core 
against water or damp air under fault conditions. Protection of this 
type results in considerable saving in the number of length renewals 
required, and eliminates “piecing out” sections of damaged cable.

(iv) Cable breakdowns, which are costly in terms of time, money and 
service disruption, are reduced.

(v) The responsibility for damage to telecommunications cables by 
other authorities is more readily determined. The audible hiss of 
escaping gas from a damaged pressurizedcable provides an indication 
to the authorities concerned that a cable has been pierced. Also, the 
consequent drop in pressure is noticed by the locaa maintenance 
staff, enabling the damage to be localized and the damaging party 
notified immediately.

(vi) Test equipment for localizing sheath faults is robust and is able 
to withstand adverse weather conditions.

(vii) Inaccuracies in fault location measurements, due to difficulty 
in obtaining a satisfaccory insulation-resistance ratio between a good 
and faulty wire, are eliminated.

(vili) The reduction in cable breakdowns and insulation faults 
provides a considerable improvement in the service provided by the 
telecommunications network.

(b) The disadvantages of cable pressurization are as follows.
(i) Pressurization requires more records to be kept; the postions 

of monitoring equipment and testing points on cables must be recorded. 
The accuracy of such records must be maintained to asssst in the 
rapid and uuccessUlll location of cable faults.

(ii) More work is involved when diversions and rdarrangdmdntu 
have to be carried out on pressurized schemes. Maintenance staff 
controlling test panels on the cables involved must be forewarned of 
the proposed work and, on completion, the cable has to be repres- 
uurizdd,

(iii) While eleccrical tests can be carried out from a maintenance 
test room, testing on pressurized cables normally requires access to 
jointing chambers.

(c) The maximum safe pressure which can be |■esiuted by a cable­
joint sleeve can be calculated by likening the cable sheath to a thin 
cylindrical shell which is subject to longitudinal and hoop stresses.

The longitudinal stress = Pd/4t, and the hoop stress = Pd/2A where 
Pis the operating pressure, dis the sleeve diameter and t is its thickness.

The operating pressure is chosen so that the sleeve ddsign meets 
the hoop stress, which is twice the longitudinal stress.

Q 5 (o) Describe in detaii, with the aid of a diagram, a R-cmrernt 
/duí method of locating a break in a submarine-cable sheath.

(b) Explain why upectaa methods of DC testing have io be user/ when 
locating a submarine cable break with conductors exposed to the sea.

A 5 (a) Kennelly’s 2-current test is made usmg a Wheatstone bridge 
with a milliammeter in series with the line as shown in the sketch. When 
the bridge is balanced, a “‘false zero" is used on the galvanometer 
scale to eliminate the effects of any spurious current. This zero is 
determined by removing the test battery, which allows current to flow 
through the galvanometer due to cable capacitance discharge and also 
due to the polarization EMF at the fault. The effect on the galvano­
meter is a “‘flick”, changing to a uteadily-ddcreasing deflexion. 
The point at which the change takes place is regarded as the false zero 
to which bridge-resiutancd adjustments are made.

R_f _ 1/12
Rpz 111

where Rfi and RM2 are the apparent faultdesistanceuintroducdd atthe 
fault point by line currents /, and /2 respectively.

A13O, R, = Rl + Rh and R- = Rl + Rfz,
where Rl is the resistance of the conductor to the fault.

. @i. 12 Rte- RL
" Riz id R- RL

.•■ Ril/t - Rv/2 = Rz/2 - RlVZ.
. _-tlHI-R2//2
•. RL V't - V2 ‘

If the current ratio is 4 : 1, for example, then Rl = RR/ — R-. To 
determine the actual fault position in nautical miles, it is first necessary 
to make an allowance for

(i) any known fixed resistances, such as repeaters, and
(ii) the estimated “fixed" fault resistance,

and then to divide the residual by the ohm/nautical-mile constant for 
the cable.

(b) When a break occurs in a submarine cable and the copper 
conductor is exposed to sea water, a simple cell is formed between the 
copper (positivd) and the iron armour wires (negative), with the sea 
water acting as the dlectrolytd. This cell generates a current which flows 
from the conductor to the sea and makes DC fault localization 
extremely difficult. If a DC potdntial is applied to the conductor 
during tests, electt■olytic action takes place at the break, provided that 
the potential differdncd at the fault due to the applied potential is 
greater than L4V. The conductor is coated with cupric chloride 
when a potential postive with rdupdct to earth is applied, and with 
hydrogen bubbles when negative potential is applied. This results in a 
variable resistance between the conductor and the sea water depending 
upon the polarity and magnitude of the applied current. This, and the 
effects of spurious line currents, are not taken into account in the 
straightforward measurement of resistance and could, therefore, give 
rise to errors in the locafizatton of the fault. Most DC methods of 
locating faults in submarine cables are, therefore, designed to reduce 
errors due to the polarization EMF at the fault, varying earth 
potential and spurious currents in the line.

Q 6 An 80 m span of dropwire from a pole to a house is tensioned at 
36 N. As a readt of icefarming on the wire, the tension incrdaudu to 181 N. 
The weight of the wire without ice is 0-/5 N/m, the totat conductor 
cr■ouu-udction is 0-8 mm- and Young’s modulus (E) is 205 GPa. Auurmd 
that the ice coating is uniform over the length of the dropwire and 
neglect the strength of the ice.

Calculate the mass of ice coating per metre of drop wire.

A 6 The original length of the wire, [/ is g.ven by i, = L + Ed- jLj 
metres, where L is the span length (metres), and d is the dip at the 
centre of the span (metres).

„ . - WL2But d = -8T-metres,
8/ t

where Wis weight of wire per unit length (newtons/metre), and T, is 
the original tension in the wire (newtons).

O‘I52 x 803Thus, h = 80+ ° R/xx^JR0- = 80'370 m.

Ifi- is the lengthof thdwirewhdncaI■ryingicd,and TRisthe new tension,

h - h _T2-T,'
1 A x E*

where A is the cross-sedtional area of the wire (metres), and E is 
Young’s modulus (pascal).

.-. d = 1(T2HTd> + i1metrdu,

A balance, Rt, is obtained with a current to line of 1/ which shouM 
not exceed 25 mA. The current is adjusted by means of the variable 
resistor in series with the battery, and a new balance, Rr, is found 
using a second, lower, value of current, /-. By Kennelly’s law, 
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80-370 x (181-36)
O-S X 10-« X 205 X 109

+ 80'370 m,

- 80-441 m.
If Wi is the weight of the wire with the ice coating, then
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, . , W2L3
1 = L+ 24722 metres.

■ '■ Wi = \/2%22L3—^ newtons/metre,

124x1812 X (80-441 _ 80)
V 803

Thus, the ice coating weighs

0-823 - 0-15 = 0-673 N/m.
Hence, the mass of ice per unit length

- 0'67( ■ ^07^ 4. 
7 o 1 -

A 8 (a) It is first necessary to determine the depth of the river bed 
and to make a ground survey in the areas where the drive and receive 
pits will be dug. The ground survey includes trial excavations 
and the sinking of boreholes. If the ground is found to be unstable due 
to the presence of silt, sands or ballasts, it may be necessary to carry 
out stabilization by one of the accepted methods (forexample, chemical 
consolidation or freezing)-The site for the driving(jacking) andreceeving 
pits havingbeen agreed, the excavations are commenced and the pits are 
dug to a depth which allows for a clearance of at least ( m between 
the top of the pipe and the river bed. The size of the drive pit for the 
jacking of a 1-2m pipe is of the order of 7 m long, 4m wide, 
and deep enough to allow for adequate clearance of the river bed. A 
thrust wall of reinforced concrete is built on the pit wall facing 
the direction of thrust. The thrusting jacks (at least: 2, depending 
on the soil) are then set up and aligned to give the correct direction of 
thrust to ensure that the pipes emerge in the correct portion at the 
other side of the river.

Q 7 (a) Explain the term bond strength as applied to reinforced
concrete design.

(b) Quote a typical value for a bond strength which could be used in 
reinforced concrete dessgn calculations.

(c) Using the value quoted for (b), calculate the minimum length 
of embedment of a 82 mm diameter reinforcing rod needed to achieve a 
bond with the concrete. (The maximum tensile stress in steel is 840 
MPaj

(a) Describe briefly 2 methods of improving the Wd between reitt- 
foc:i bars in cancr■ntn■

A 7 (a) Bond strength in reinforced concrete refers to the magnitude 
of the adhesion between the concrete and the steel reinforcing bars, 
and is the bonding force per unit surface area of the rnidfbrcemnld.

Concrete shrinks when setting and hardening, thereby creating a firm 
bond between concrete and steel. It is necessary to embed the steel 
bars in the concrete for a length which provides sufficient odhesion 
between concrete and steel; otherwise, the steel bars may sip and fail 
to take up their proportion of the load.

Reinforcement of concrete must be such that the overall bonding 
force mustbe at least equal to the permissible tension in the reinforcing 
bars. The bonding force is the bond strength multiplied by the surface 
area of the reinforcing bars in contact with the concrete.

(b) A typical value for bond strength is 1 MPa.
(c) If L is the length of the steel bar (metres), and d is the diameter

(metress,

the bonding force = mlL > (bond strength) newtons.

Also, the tension in the bar at maximum stress

= 140 x 106 x %'- newtons. 
4

Equating the bonding force and the limiting tension in the bar gives

U2XÌ10 XLX1X IK 140 X 12217 newtons.4

, r 40 x 12
’ . L = m IO3 m =20mm1

(d) Adhesion between the steel and concrete can be increased by 
providing hooks on the steel rods, as shown in the sketch. The U-hook 
gives an anchorage equivalent to that provided by a length of straight 
rod equal to 16 times the diameter of the bar. Another method of 
improving the bond is the use of deformed steel bars, which give a 
greater adhnsiod than can be obtained using straight rods.

Q 8 (a) Describe, with the aid of sketches, the mnthodthot wouldbe 
used to pipe-jack a 1-2 m concreee pipe under a river 20 m wide.

(b) Describe a method of installing 90 mm diameter P VC pipes in the 
concrete pipe after it has been laid and the manholes buiit at each end.

The sketch shows the site layout for the operations. It is norma 
practice to fit the leading concrete pipe with a hooded shied. The 
shied provides a suitable cutting edge and includes jacks to allow 
control of the line and level of the drive as it proceeds. The pipes are 
jacked into the ground one at a time while the miner at the cutting 
face within the shidd excavates by hand and removes spoil by means 
of a small trolley system. When the end of the thrust has been reached, 
the cutting shield is removed. In difficult ground, it may be necess.ary 
to lubricate the pipe during jacking by injecting bentonite, or similar 
materials, through the grout holes. The pits may be used for the con­
struction of manholes if required, or the duct route may be extended 
to suitable manhole positions. If manholes are not consructed, 
reinforced concrete collars must be constructed at the ends of thepipe 
to minimize diferential movement. Dependmg on ground eonditiods, 
the concrete pipe may be stabilized in the ground by pumping cement 
grout through prepared holes in the pipes to fill the overbreak and elim­
inate the possibility of subsidence at a later date.

(b) A 1-2 m pipe accommodates about eighty 90 mm PVC ducts, 
and these can be laid by hand in 1-5 m lengths within the concrete 
pipe or drawn-in, either singly or in groups of up to 10 plpes at a 
time. In the case of 6 m ducts, joints are made as the ducts enter the 
pipe or, if sufficient clear space is available, the ductscan be laid out 
and jointed on the ground before pulling in. To ensure reasonable 
rigidity of a large number of pipes during subsequent cabling operations, 
concrete or cement grout is placed between the interstices of the duct, 
and between the ducts and the inside of the concrete pipe. Where duet 
is laid in short lengths by hand, concrete of quality F (1 :2;3 mm 
using 9-5 mm aggregate) is hand packed approximatey every 1-5 m. 
In the case of the 6 m lengths of duct drawn into the concrete 
pipe, a sand/cement or pulverised-fly-ash/cement grout 1 gravity fed 
into the pipe to fill most voids.

Q 9 (a) Describe, with the aid of sketches, 4 different types offounda­
tion that could be used in a steel seef-supporting aer¡ar tower

(b) A squore-siOed concrete block is used for one leg of a tower 
foundation. The depth of the block must not exceed 4 75 m and the 
denssiy of concrete is 2200 kg/m(. Calculate the size of a coHerete block 
which would be required to withstand an uplift of 1175 kN with a factor 
ofsafety o/'7-5.

7 5
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A 9 (a) The simplest of foundations for a self-supporting tower is 
an individual reinforced concrete block for each ieg of the tower (see 
sketch (a)). The weight of each block, together with any support that 
the surrounding soil may be considered to provide, must be adequate 
to resist the maximum uplift that can be experienced in that leg, and 
provide a factor of safctty. The size of the base of the block must be 
sufficient to limit the pressure on the soil due to downthrust to within 
the allowable value for the sool.

An alternative is the slab foundation, in which all the legs of a tower 
are founded in a single slab of reinforced concrete (see sketch (b)). 
The overturning moment is resisted by the couple generated between 
the total structure and foundation weight acting through the centroid 
of the structure, and the resdtant upthrust of the soil pressure distri­
bution beneath the slab acting through the centre of pressure.

In some soils, it is necessary to resort to piled foundations, or a 
combination of block or slab and piles (see sketch (c)). In this case, the 
pile is driven until it meets sound bearing soil or untti adequate 
friction is devrioped along the surface of the pile to resist the down- 
ihlus| I|o — the :iw'it.

Where the tower is to be founded on sound rock, good use can be 
made of the rock by using rock anchors to resist the uplift force in a 
leg of the tower (see sketch (d)).

JI

Individual Blocks

Piled

(b) The volume of the block is4~75S2 metres3, where S is the side 
lengthof the block (metres).The weight of the block is4‘75S2 X 2200 X 
9-81 newtons.

For equilibrium, the weight of the block must equal the uplift multi­
plied by the safety factor.

4-75S=X 2200 X 9-81 = 1175 X 103 x L5newtons.
S = 4-15 m.

Q 10 (a) State the factors which influence the coefficient offriciion 
for cables being pulled into ducts.

(b) (i) Derive a relationship between the limiting pull, N newtans, on 
a cable, the number of pairs, n, and the diameter, d millimetres, of each 
conductor if the stress on copper must not exceed 60 MPa.

(it) If the cable contained aluminium conductors, what would be the 
relationship if the stress on aluminium must not exceed 30 MPa?

A 10 (a) The sliding coefficient of friction for cables being pulled 
into ducts varies over a wide range and depends upon several factors, 
not all of which are always known or controllable; for example,

(t) the type of cable,
(ii) the type of duc,

(iii) correct construction of the duct route,
(iv) the cleanliness of the ducts, and
(v) the type of lubricant used (if any).

If close accuracy in calculation were required then, due to the above 
factors, the coefficient of friction (p) would need to be determined for 
each case. When pulling-in lead-sheathed cable under normal condi­
tions, values of In between 0T7 and 0-83 are experienced (average 
value 0’48). It is safe to assume a value of ,u of 0-4-0-5 for lubricated 
Jead-sheethed cables, and 0-3-0-4 for unlubricated polyethylene 
cables.

The actual value of ,u depends on the type of duct used. It is general 
practice to lubricate lead-sheathed cables with petroleum jelly before 
pulling-in.

(b) (i) The cross-sectional area of the cable core

24= —in X 10-6 metres2.4

The stress on the cable
N= 60 X 106 = —---------- pascals.

7m=n 110 6
~ST- X 10-64

.. N = —7— = 47- 12<d=inewtons-

(ii) If the cable is aluminium and the limiting stress is 30 MPa, 
the relationship is

N = =3-56d=i newtons.

LINE TRANSMISSION C, 1976

Students were expected to answer any 6 questions

Q 1 (a) Write down the expression for the characteristic impedance of 
a unfOrm transmission line in terns of its primary coefficients.

(b) Calculate the characteristic impedance of a uniform line at 
w = 5000 rad/s, given that R = 30 Q/km, L = I mH/km, C = 0-1 
[tF/km and G = I pSIkm.

(e) Show how the characteristic impedance of a line can be obtained 
from 2 separate impedance measurements.

A 1 (a) The characteristic impedance, Zq, of a uniform transmission 
line is given by

„ IR +jmL .Z0 y G+j01^
where R is the loop resistance (ohms/kilomeîre), L is the loop in­
ductance (henrys/kilometre), G is the loop leakance (siemens/kiio- 
metre), C is the loop capacitance (farads/kilometre), and w is the 
angular frequency (radians/second).

(b) From the values given,

R +jioL = 30+55000 > 10"3 = 30 + j5Q,

= 30-41 /tan1f0-1667 = 3041 /9462" Q, 
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and G + jarC = 10-« + jSOO X 10~« = 1-5(1 + j500)Q,

= 500 X 10-« /ttn-1j00R 500 X 1Q-6/90°Q
■ V A If 30-41 \ I 9-462” - 90° n
" Z" « \500 x 10i)) 2 Q

= 244-6/-00-27° Q
(c) The dnra=tcIt.S■ic impedance of a transmission line can be 

calculated from bridge measurements of the input impedance when 
the far end is short-circuited (Zsc), and when it is open■ctrcuited 
(Zoc)- The characteristic impedance is the geometric mean of the 
2 measurements; that is,

20 = x/(Zsc > Zoe)-

Q 2 (a) Explain how the attenuation of a transmission line can be 
reduced by coii loading. _

(b) Derive an expression for the cut-offfi-equency of a loaded line in 
terms of the inductance of the coils, the spacing between them and the 
capacitance of the line.
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A 2 (a) The attenuation of a transmission line is a measure of the 
power loss along that line, and is expressed as the ratio of the input 
power to the output power.

The 2 primary coefficients of a cable pair which cause loss of power 
are the loop resistance, R, and the loop leakance, G. At any point in a 
cable pair, the voltage, V, and the current, I, are related by the equation 
20 = Vjl, where Zo is the characteristic impedance of the pair.

The power losses are equivalent to 12R and VZG and, in modern 
pair-type cables, the 12R losses predominate because G is negligible 
over the frequency range used.

Therefore, if Zo can be increased without increasing the loop 
resistance, the current will be reduced, so that the FR losses, and 
hence the attenuation, will decrease. (The voltage would rise and 
increase the V2G losses but, as previously stated, these losses are 
negligible.)

The characteristic impedance is given by the expression

z _ /R+iatL
Zo N G + jwc’

where L is the loop inductance, C is the loop capacitance, and w is the 
nnuriir ileql:e—C.

Thus, by inserting loading coils at intervals along the line and so 
increassng the inductance, the characteristic impedance is increased 
and the attenuation reduced.

(b) The sketch shows a transmission line for which the spacing of 
the loading points is dkllometres. Half the added inductance appears 
at each end of the line, and L and C are the total loop inductance 
(henrys/kilometre) and loop capacitance (farads/kilometre) respec­
tively.

At the cut-off frequency, the characteristic impedance is zero. Thus, 
equating to zero the expressson for the characteristic impedance of a 
T-network:

z^-w^H-
, a2LCd2•' 4

'lCi/z dx V + cA1-1^^

Hence, the cut-offfeequency = —=----- /(-c-. hertz.
qy -nd x V(LC)

In practice, the cut off does not occur sharply, and the maximum 
usable frequency is therefore somewhat lower than the theoretical 
cut-off frequency.

Q 3 (a) Sketch the circuit arrangement of a bridge suitable for measur­
ing the impedance of a cable pair at audio frequencies.

(b) Derive the modulus and angle of the measured impedance in 
terms of the bridge components.

(o) Explain the precautions necessary to ensure a reasonable degree 
of accuracy in making the measurements.

A 3 (a) The circuit diagram of a bridge suitable for making 
impedance measurements on a cable pair at audio frequencies is 
shown in the sketch. Variable capacctor C can be connected either 
across variable resistance R1, when the line impedance has a smaH 
negative angle, or across the line itself when its impedance has a 
small positive angle. A high-impedance telephone receiver acts as the 
detector, and the signal source is connected to the bridge through a 
balanced and screened transformer.

(b) Consider the bridge to be balanced with capacitor C connected 
across resistance R1, and let Zl be the impedance of the line, and 
Zcm be the impedance of capacctor C and resistance R1 in parallel. 
At balance,

Rzz- = R3Zcm or Zl = R3RER - .........  (1)
Ri

Now, Zcri =
R1 . 
jC

R l j

------R------  
1 +jjCR1

Rationalizing this expression gives

Z _ Rj xl -jjCRi
CR1 1+ijCRi 1 - jaRRi’

=___ R_______ jcuCRfl.
1 + wZCRF l + a2C2Rl2

SubsHiuting for Zcm in equation (1) gives

z _R3/ R1 . <DCR12 )
L RzU + co^C0Rr2 J1 + w-C-R1-J’

Expressmg this in polar form gives

R5 /R12+w2C2Ri4
1 ZlI RV1 + wzcjezy’

A, 
R2W(1 + w2C2R12)J

and argZ-= tan‘'1 wCRl.

If the bridge is balanced with capacctor C connected across the line 
it can be shown that

2 R2R3R1 + . wCR32R12
Zl = R22 + w2C2Ri2R32 + JR22 + wzcezRijz’ 

or, in polar form,

I R3R1 j „„„ <7 »™—1 wCRRIZLI = V(Rz2+ at^R^R^)and arg L ~R '

(c) To ensure the best degree of accuracy, the following precautions 
are necessaay:

(1) each component must be screened, and all screens must be 
connected to a common earth point,

(ii) the osccilator must be connected to the bridge through a 
balanced and screened transformer, ,

(iii) the osscilator must be free from harmonics, _
(iv) the telephone receiver used as the detector must be of high 

quallty, and _
(v) ail variable components must be properly callbrated.

Q 4 (a) Draw a block diagram showing the requirementsfor a CCITT 
72-cham«RgroupfOr carrier telephony.

(b) Explain the function of each block.
(c) Sketch the attRnuation|frr<qurncy characteristic of a typical 

channe filter, and show how it relates to that of an adjacent channe 
¡ilte. , ..

(d) Explain why each channe filter needs to have a sharp cut-ofi, 
and say how this is achieved.

A 4 (a) A block diagram of a 12-channeI CCITT group for carrier 
telephony is shown in sketch (a).

(b) Channd 1 is shown in dead, and channels 2-12 are similar 
except for the carrier-supply frequency, which changes in steps of 
4 kHz from 64 kHz for channel 12 to 104 kHz for channel 2.

For transmission from channel 1 audio, signals, applied to the 
transmit side, reach the modulator which is fed from, the 108 kHz 
carrier supply. The modulation process gives rise to 2 sidebands, but 
the channel filter allows only the lower one to pass; the upper Sidr-
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CHANNEL 
FILTERS

CHANNEL 1 
(transmití

CHANNEL 1 
I RECEIVE!

CHANNEL 12 <-

( .1.

band is rejected. The lower sidebands of all the channels pass to line 
through the line amplifier.

On the receive side, each lower sideband is selected by the appro­
priate channel filter. The channel] sideband reaches the demodulator 
which is fed from the 108 kHz supply, and the demodulatton process 
yields the original audio signal plus an unwanted band far above it in 
frequency. The unwanted band is rejected by the low-pass filter.

The attenuators ensure that no item of equipment is overloaded, 
and the amplifiers ensure a satisfactory signal-to-noise ratio. The 
equalize- ensures that the overah attenuation is independent of 
frequency. The compensating networks simulate the loading effects of 
filters for frequencies either side of the first and last channel carriers, 
so that all the band-pass filters have an equal loading.

(c) The attenuation/frequency characteristics of channel filters, and 
how they relate to each other, are shown in sketch (b).

8 : i

BO
40
20

0
60 64 68 7 2 7 6 80 84 88 92 95 tOO 104 108

FREQUENCY (kHz)

(b) ’

(d) The sparing between adjacent pass bands is only 0-9 kHz, and 
the rate of rise of the attenuation/frequency characteristic of each 
channel filter has to be very large to allow a discrimination of 72 dB 
to be achieved. For this reason, crystal filters are used.

Q 5 (a) Explain the neee for equalizers in line-transmission systems.
(b) With the aid of sketches, show how the insertion-loss/frequeney 

characteristic of a line equalize:' can be measured.
(c) List the precautions necessary to ensure a reasonable degree of 

accuracy in memsiu’omeiU.

A 5 (a) Equalizers are necessary in a line-transmission system to 
enable the desired attenuation/frequency characteristic to be achieved 
when flat-gain amplifiers are used. The attenuation of a cable pair 
rises with frequency. An equalizer is a network whose attenuation/ 
frequency characteristic is the inverse of that of the line. Provided that 
the equalizer and the line are both properly matched in impedance, the 
combination of the two in series gives an overall attenuation which is 
subsLanttallyindependent of frequency. The principle is illustrated in 
sketch (a). (The same effect can also be achieved by using sloping-gain 
amplifiers, thus eliminating the need for equalizers.)

(b) The insertion loss of a line equalizer is the ratio of the power 
delivered to the load before the equafizer is connected to the power 
delivered to the load after it is connected. Sketch (b) shows an arrange­
ment by which the loss can be measured directly. At each frequency, 
2 measurements are made: one via the equalizer and one via the 
direct path. Then, assuming the osciilator output to be adjusted to 
give a constant output voltage, the insertion loss

i V2 (via direct path) , „ , = 210 loglo ■, . , .----------. decibels.V2 (via equalizer)

The accuracy of this method depends upon the stabiiity of both 
voltmeters, and the calibration of voltmeter V2.

Sketch (c) shows a method by which the equalizer is compared 
directly with an adjustable attenuator. The voltmeter is switched 
alternately between the equafizer path and the attenuatior path, 
while the attenuator is adjusted until the same reading is given for both 
paths. The accuracy thus depends only upon the calibration of the 
attenuatior; the long-term stabiiity and calibration of the voltmeter are 
unimportant.

(c) For both methods of measurement it is important to avoid 
errors caused by harmonics of the testing frequency, and this can be 
done by putting a band-pass filter in the osrillator’s output circuit, or 
by having a frequency-selective detector in place of the voltmeter. The 
voltmeter (or detectol,) should have a high impedance relative to that 
for which the equafizer is designed.

Q 6 Au audio-frequency 4-wire circuit with 2-wire terminations is to 
be set up between terminal repeater stations 20 km apart. There is an 
intermediate station mid-way between them. The circuit is to be lined up 
to a loss of 3 dB between the 2-wire points. Each pair of the interconnect­
ing cables has an attenuation of 2-5 dB/km at 3-4 kHz and 0-5 dB/km 
ar 0-3 kHz.

(a) Draw a block diagram for the whole circuit.
(b) Explain the function of each block.
(c) Draw a levee diagramfor one direction of transmission.
(d) Explain the need to plan for both maxinmm anti minimum sigma 

levels.

A 6 (a) A block diagram of the circuit arrangements for one direc­
tion of transmission is shown in sketch (a).

TERMINAL
STATION A

TERMINAL
STATION C

INTERMEDIATE
STATION B

CIRCUIT CIRCUIT

(a)

(b) Connecting the 2-wtre circuits to the 4-wire audio circuit are 
hybrid transformers, the purpose of which is to combihe the uni­
directional paths of the 4-wire section with the bi-directional paths 
of the 2-wire sections. The theoretical loss of a hybrid transformer is 
3 dB, but an additional 1 dB has been allowed to cater for the trans­
former loss.

Each repeater comprises a 30 dB fixed-gain amplifier and an 
adjustable attenuator, the latter set to the values shown.

At stations B and C, line equalizers are provided to make the 
attenuation of the circuit substanttally independent of frequency. 
Each cable pair can then be considered to have its maximum value of 
loss (that is, 25 dB) over the entire frequency range. Each equalizer 
has been assumed to introduce a basic loss of approxtmately 1 dB at 
3-4 kHz.
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The 9 dB attenuator between the amplifier and hybrid transformer 

at station C is necessary to reduce the signal level at the 2-wire point 
to the specified value.

The whole arrangement is designed to ensure that planned +10 dBr 
upper and —20 dBr lower limits of signal levee are not exceeded. During 
the lining-up process, minor adjustments to the attenuator settings 
may have to be made.

(c) A levee diagram for one direction of transmission is shown in 
sketch (b). The cable loss between stations is 25 dB at 3'4 kHz and 
5 dBatO-3 kHz.

STATION A STATION 8 STATION 0

(d) It is necessary to limit the maximum signal level at any point to 
minimize interference with other circuits in the same cable. A minimum 
signal level is necessary to avoid a poor signal-to-noise ratio.

Q 7 (a) wety are echo suppressors essential for some types of circuit ? 
(b) Outline the principle of aperation of an echo suppressor.
(c) Give one example of the application of an echo suppressor.

A 7 (a) A 4-wire connexion between 2 subscribers, A and B, is shown 
in sketch (a). Ideally, the loss between the 4-wire receive and send 
pairs across a terminating unit should be infinite but, in general, this 
is not the case because of the practical difficulty of making the balan­
cing network a perfect match for the 2-wire line.

Assuming subscriber A to be speaking, and signals to be passing to 
subscriber B over the path shown by the full-line arrows, any im­
perfection in the matching of the balancing network at the receiving 
end causes part of the received signal to be passed back to subscriber 
A over the path shown by the dashed line. For an eleccrically-short 
connexion (that is, one where the delay time is small), subscriber A 
merely hears this signal as sidetone. However, where the delay time is 
long (for example, of the order of 200 ms), the sign! appears as a 
distinct echo. Similar conditions apply when subscriber B is talking, 
and such echoes can be a serious impediment to conversation.

(b) Echo suppressors attenuate the return path when activated by 
speech signals on the forward path. The principle is illustrated in 
sketch (b).

(c) Echo suppressors were originally used on long 4-wire audio 
circuits, but these are now largely superseded by high-veioctty carrier 
circuits, where the delay time is small. The need for echo-suppressors 
remains, however, on transoceanic-cable and saieHite circuits.

Q 8 (a) Explain what is meant by near-end crosstalk and far-end 
crosssaHc.

(b) Explain how crosstalk can be reduced to an acceptable levee on a 
carrier telephone system using star-quad cables.

A 8 (a) Sketches (a) and (b) both illustrate 2 pairs in a cable, with a 
signal in pair 1 causing interference signals in pair 2. The interference 
signal appearing at the right-hand end of pair 2 is called far-end 
cl‘osstalk (sketch (()), and that appearing at the left-hand end is called 
near-end crosstalk (sketch (b)).

(b) Crosstalk can be caused by
(i) capacctance unbalance,
(ii) resistance unbalance,

(Hi) inductive coupling,
(iv) low insulation resistance, or
(v) wire-to-wire contacts.

Some of these factors can be minimized by sound design, and by 
ensuring uniformity during manufaccure; others by carefu! installation 
and miiintinance protteduie■s.

The 4 wires of each quad are taken from the same red, thus eliminat­
ing any posssble differences in diameter due to the drawing die, and all 
are insulated with paper ribbons cut from the same roil. The identi­
fication marks, printed on the paper in the form of 1 2, 3 or 4 rings, 
are spaced in such a way as to use the same amount of ink in a given 
length for each wire of the quad, thus obviating any difference in 
insulation resistance attributable to the ink itself.

All quads have different lengths of lay, some being laid clockwise 
and some counter-clockwise. The cable is built up in layers of quads, 
each layer being laid helically over the one below it and in the opposite 
direction of lay. Thus, all quads in a layer have the same direction of 
lay, but adjacent layers have clockwise and counter-clockwise quads. 
This arrangement of layers and quads minimizes the posssbiilty of 
inductive coupling between quads. The completed cable core is 
thoroughly dried in an oven before the sheatthng is applied, and it is 
important that moisture should not be allowed to enter the core, and 
hence reduce the insulaion resistance, during the subsequent jointing 
operations.

In practice, the main source of crosstalk is capacitance unbalance. 
It is necessary to make measurements on each cable length, and then 
to select quads for jointing in such a way as to even out and minimize 
the overall unbalance figures. Such joints are called test-selectfC Joints.

Sketch (c) shows the various capacitances involved in a star quad 
with wires A, B, C and D. No crosstalk occurs within the quad if 
w = x = y z z. a b bc c d dl and m = n.

(c)
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LINE TRANSMISSON C, 1976 (continued)

UNIT BALANCING SECTION

w
Sketch (d) shows a typical unit balancing section for a carrier cable 

system. It comprises 8 lengths of cable, each about 160 m long, and 
every joint is test selectee. The cable lengths are first jointedin pairs 
(joints T1) and thee in groups of four (joints T2). Selected joint T3 
completes the unit balancing section. A number of such sections are 
then selectively jointed together(joints T4) to build up the cable to the 
required length. It is possible to carry out much of the measurement 
and setection work in the factory before the cable lengths are 
delivered to the site. However, it is usually necessary to test and select 
joints T3 and T4 itt situ.

For a carrier system, it is usual to use separate cables for each 
direction of transmission. On completion of the balancing process, 
small trimming capacitors are added at the receiving end, as required, 
to compensate for any residual unbalance, as shown in sketch (a). 
For this purpose, a spatial balancing frame is provided at the terminal 
station. Although there are various paths over which far-end crosstalk 
can occur, they all have the same clccirica! length. Thus, all components 
of the total far-end crosstab arrive in the same phase, and their effect 
can be subssantially eliminated by the use of ssmple capacctrns. This 
contrasts with the conditions for near-end crosssalk, where the various 
paths have different lengths (see sketch (bj); thus, the components of 

the total near-end crosstalk cover a range of phase relationships. 
Near-end crosssalk ls avoided by making use of the screening effect 
of the lead sheaths.

Q 9 (a) Outline a typical trarrsmiss¡on plan for a nationaa telephone 
nnework, shotving the loss allowable irr each part of a subecribeerto- 
subscriber trunk connexion.

(b) Explain the advantage af -0kZic switching in the trunk network.

Q 10 (a) With the aid of sketches, show how power can be provided 
for the tran!rmission equipment itt a repeater station.

(b) Explain how kiteeinpfions due to failure of the mainspowee supppy 
can be avoided.

(e) List the precautions necessary to minimize interference from the 
power supplies.

A ro See A7, Line Transmission C, 1975, Snkplimmdi Vol. 69, 
p. 78, Oct. Li?!). (See also the correction bdew.)

CORRECTION

LINE TRANSMISSION C, r975 (Supplement, Vol. 69, Oct. 1976)

A 7 A battery was omitted from the starter-motor circuit in sketch 
(b). The arrangement should have been similar to that shown for the 
starter motor in sketch (a).
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